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. 5 interegt per annum ﬂnd an
1. A person invested an amount of ¥ X at the rate of 18% gimple
amount of ¥ Y at the rate of 12% simple interest per annum. £¢ N
nts 1
¥4,320/- at the end of the year. Had he interchanged the amou

received an interest of ¥4,680/~. Then|X - Y|= (4) %6,000/-

(1) T9,500/- (2) ¥8,000/- (3 ¥ 7’500/: 08 12% 8e;355 e
2% 58 BoBS008 18% Send® ertoshs X rdeaie Bogey HOI “’°éé§m@ S 2 X
Y &rirobe o030 Dioodm me:;ao.ﬁ::oéépomée oS 4,320/~ &7 GTT EPOTPK), ¢

8(X-Y|=
IO BE ke K76 o8 w8 4680,/ - Srdratie SEQ OB GOGTL. €OV | |
(1) 9,500 &rdrapen (2) 8,0008rarcben

(3) 7,500 8rdrasen | 6,000 EraPCHED

He received an interegt o
sted, he would hyy,

Z The ratio of a principal and the total amount with r% simple interest rate on that

principal after 1 yearisa - b then value of zin terms of 4, &1
.6 eot BBk D e SoisEE0 By r#Fins; 548 ech; HEVE Mo DY a : bed

roemsa beo st .
b+a

b—a b-a b-a 4 100
(1)) (a ]xlOO (2) [b )x]OO (3) b+ax100 (4) —

A person invested ¥18,000 at the rate of 20% compound interest per annum. Then the

3.
; . EIH5E
interest he gets after completing the duration of two years is El%
2.5 558 18,000 Grdrdhe Drees 20% Send® SE 548 Depad DERLD. OPL Sotd SoE e o
55350 8570 eomS Sosd @808 $3y .‘;’ch.
T7,920 (2) 4,320 (3) 6,750 (4) 8,670
4.  Abuilding of initial value Rs. 31,25,000 depreciates in its value every year at the rate of 4% on

its value at the beginning of the year. If Rs. x is the value of the building at the end of 3 years

and Rs. y is the value of the land which appreciates at the rate of 5% compoundingly and the
value of the land initially is Rs@chen Pg=

31,25,000 &rarashe Dens O .8 ¢fiSS0 Densh G riheser (58 5058 80 & 50:58y8 B0 o&® &%)
o Denih B 4% Bk TP dioknob. 3 B05 e Somyd e #5550 Dewd x Erdrcien $Bdsn ot
32,00,000 8raa80 De0iS 89 5% eorttso Ben Sfcsore €05 900 Dens y ErdraBd, y — X =

o s e (3) 600000 (4) 508900

e ——

5. If Tn =Tn—| +Tn#2 VYn=>3and Tl =T2 =1 then Tl +T2 +“‘+T10 -
Tn =Tn—1 +Tn-2 VYn=3 Db TI=T2 =] @0333 T] +T2 +---+Tm =

(1) T,+4 T, ~1 (3) T,+1 (4) T,+T,
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g Certamn amount 'x' s distributed gq threo persons A, B, C. A gets 25% share of x. Twice the
difference of Band Cisequal to the share of A Then the ratio in which A, B, Cget the amounts

is ¥

A, B, C S5t Foif ndo x Sodulon, v ¢f 25% miri A Sromis. A e B H0ak C oirs

dessinsith Both Bey wond, A, B, Ce» 08 Snere D508,

(1) 26:72:59 4:7:5% (3) 8:13:9 (4) 2:7:6

7. Theaveragesof 3 different data D,, D, D, ave 30, 40, 50 respectively. If the average of D and
D‘; tﬂgﬂth-&'r 15 38 and that 'l}fD: and [::|.~|| together is 42, then the average of the three data Dy, I
and D together is
Dy, Dy, Dy o3 Sarth D05, Serore #itne Seam 30, 40, 50. D, Hodk D; o Hodkug ik
38 obaly D SoBtin Dy o Sodiug St 42 wond Dy, Dy &b D, & Srlodd SHt
(1) 4453 (2) 42 (3) 4312 (7)) 40

8. Inapolice battalion of 600 police, the average height is 150 em. Later it is discovered that for
x policemen heights are copied wrongly as 160 em instead of 190 cm. By taking the Correct
heights, the average is increased to 155 em. Thenx =
600 o8 Rbioen ey 8 B BerDabS 60 ety B0 2 150 o, &o. Somd, 0 x ol
SHG =0 deben 190 Do, H. athowe 160 2o & e grdbolit o R, 10 wond J8w
Biothol, 70 S0 2 155 Do. i, o DOACH. e x = o
(1) 120 (&) 100 (3) 180 (4) 150 ®

&

v

The marked price of a newly arrived article shows an increase of 15% on its cost price. Later
this marked price was decreased by 20% as the article isoutdated. If the cost price of the article
is 71,200 then the profit or loss for the shopkeeper with the current selling price is

(1)  5%loss (2) 8%loss (3) 10%gain (4) 7%gain

g 50, B0 8 Sk g 508 Do TRTH Fep 1 5% Hyre LR, 8 555 G Teo
304 SGE D 508 Joib 20% Shodh. @ S Tk BF Jo 1200 Srdraboand g@is
b fcs Delt 6 HeEO8 53 ooiin Sor Sise,

(1) S%sge 8% S50 (3) 10%ergo (4) T%edo

10. A sum of ¥ 5600 is distributed among 12 people consisting of men, women and
children. The ratio of the total amounts given to all men, all women and all children is
9.4 1. But the ratio of the amounts reccived by each man, woman and childis 3:2: 1.
Then the amount received by each women is '
(1) 2250 (z) Y300 (3) %400 (4) 7450
5totoen, hen Bcsn by o 12500 H0% 5.6008rndhe Togyotid Seth. HHibootod,
008 &b buootts sl S BEO DR 91 4 1 o (5 HERMD, §0 § S0 $8
;:-ga'ﬁﬁéﬁ Ao sobs Bnero AR 3:2: 1.0ond 50 b8 sotis driu,.

(1) 2506rinaben  (2) 3008030 (3] 400trdraben  (4) 450&Erdben

A 3
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11. A shopkeeper sells his goods at 30% profit on cost price. Due to an error in weighing
machine, it weighs 20% more than what it displayson its sereen. Then the profitor loss he getsis

SLbprofit  (2) 10%profit  (3) 10%loss (4} "8 ks
8 BT BT 030 S0 4, 553 0% 808" Doninth. Srih dbagod’ o B o 0T
5D S0 i Sy 20% Dty i o, edipe w808 $) oo B 0
) E;_%t?ﬁﬁm (2) 100 e (3) 10%555 (4) 3;-‘“*’?:}5“

12. A Shopkeeper sells an article by -:rfl.'erinlg 74% discount on the marked price and there by gets
8 loss of 5%. If he does not offer the discount, then the gain /loss he gets is

(1) 20%gain 2) 29%] 3)  25%gai 4) 21%Ioss
&J&wmﬂaﬂﬁ@éﬁﬁ&éﬁ?ﬁwﬁ@ﬁé@ﬁ{&%ﬁ,Siﬂgaﬁﬂﬁa-g-iuﬁéé&:ﬁﬁmﬁ
éﬁlwﬁu%ﬁ.}}u.

(1) 20%ego (2) 29%350 25% o (4) 21%%g0

13.  Acancomplete a piece of work in 18 daysand Bcan complete the same work in 1 2 days. Both
begin the work together but after some days, B leaves the work. If A finishes the remaining
work in 3 days, then the number of days B worked is .
AzS 500 186 medtir S0an Bed 500 128 mustin o Sabrot. siits $00 @ delis s

£ Sere 858 B 500560 S0, A0S 590 38%w4" Agpo T8, BI0 U bro oy
(1) s (2) 8 (3) 4 () 6
14. 14 men can do a work in 18 days. 15 women can do the same work in 24 days. If 14 men work

for first 3 days and 10 women work after that for 3 days, then the ratio of the time taken by

7 men alone and the time taken by 5 women alone to complete the remaining work is
14 0B Hben 08 520 18 Faed® Sailion. 15 Hob fo o 590 24 Fwed” Taiied.

14 08 Hdoen i 3 G 30 5, 8650 3 Bwen 10500k Sev B0 T7, ADH S0 7 d0d
Htatpen SmEh 0 3 Beo, 550 o irgd rd T el 158
(1) 2:3 (2) 3:4 (3) 1 1:3 1:2

15. A alone can doa piece of work in 10 days and B alone can do the same work in 15days. Aand

B agreed to complete the work for 330,000. With the help of C, they completed the work in
5 days. Then the amount to be paid to Cis

(1) ;_ of the amount to be paid to B, (2) Equaltothe amount tobe paid to B,

(3) ’I_m‘.‘ the amount to be paid to A, (4) ;_ of the amount to be paid to A

L5500 AngE 105 wos’ Sdbrad $0ansd 500 Bk 1 56 wed® Senieh. A, Bes 30,000
Grdrdheth 8 500 50 Sdhehi soliSborth. Chifahel’ P e il S8eet 0 B, sl

(83008 wdo
(1) Eéﬁﬁnﬂ&:ﬁﬁ%ééﬁﬁa. (2) B2 3bodl Znarhd Sdrdo. %
(3) A82oddnged L 5308 (@) Adagodangos Lusos.

16. If EI%% inerease of a numberis 98, then 11%% decrease of that number is

% ougs® 227% Bl 98 wond, 8 Houd’ 221% srbtie
(1) 49 (2) 53 62 (4) 45
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17. Amanstarted 10 minutes late from his home to his office. He travelled at a speed of 1 1 times !
4

of his usual speed and reached his office in time. Then the time taken by the man to reach his
office at his usual speed ig (in minutes)

&8 &8 8% 2o8%08 $ ediing 10 DPen e OB, @8 Jgrdn Srdd 11 3k
4

BHE SR8 085 eI $%HcHo (Muepes®)

[ so (2) 60 (3) 45 (4) 75

18. Twopersons P and Qstarted travelling towards each other at two places A and B respectively
at 7AM. The spee@s of Pand Qareinthe ratio4: S. Somewhere between A and B they met at
Cand spept some time together. From C at 8.07 AM P and Q started travelling towards B and
A respectlv.ely. If P reaches Bby 9.12 AM, the time they spent at C together is
(1) 12min (2) 15min (3) 17min (4) 20min
68000 7Hobed P HBaty Qen $thimr A Sbcko B ~pare K08 .80 B 208D adhe Borh. |

P &5B0in Qo Irre D)8 4: 5. A 00 Be iy Ced 556 7 St Fo Sabo KA,
C ol adaho 8.07 Koted P oy Q en $Es B a» A © 3% adbes Sovd. B écho
9.12 Kotre PA8E, C5¢ aeth) SO KBS $a%o0.

(1)  122%0dren 15080dper  (3) 170&wiren (4) 2003pe

19. The time between 7 and 8 O’clock when the minute hand is S minutes behind the hour hand is -

(1) 30 % min. past 7 O’clock (2) 328 min past7Oclock @um
1 :
(3) 43 T?T min. past 7 O’clock (4) 31> min. past 7 O’clock
1
7 50808 8 Kotoe Sots; De Bty Kobw S0en €0l 5 WDper 3GE aod iboabo.
(1) 7Kobe 392 dsnares 7 Kot 35 8 Dkodres
1 11
(3) 7#obe 431 Qswapen (4) 7Hobe 313 Jdwiren
1 11

20. ' Ifm and n are the number of rotations of hour-hand and minute hand of a clock respectively

in 72 hours, then n—m =
2.8 KBXTE0S® 72 Kobed® Kote ned, AP Knenen SEIT m $HOD n L 08 @mo I8

n—m=
(1)) 66 (2) 72 (3) 24 (4) 56

21. Three persons X, Y and Z are employed to do a piece of work. X and Y together completed 2!
25

part of the work. Y and Z together completed % part of the work. If all the 3 agreed to complete

the work for 3,250, then the amount X receives more than that of Z is

2 & 599 0 BaHTeR8 SiHs Sshen X, ¥ 9By Zen dosodhodatptd. X Hoa» Y e $0d _:5;-_1 a0
ey 1] a 5

S oyey o %92 8 2o S 5500 B, & $9D 500 BHTEDE & S0 3,250
S0V Grg DS, Y 0B Zen = 8 RS s! 0

B rdbet a,5y0t0 KEbEod Z %08 X B K5 53 Sndo.

(1) 2,210 2) .--520 - 1,690 _(4) 1,170
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In 2022 August 15% is on Monday. Then the day of the week on which Republic day will be
celebrated in the year 2024 is ;
(1) Tuesday (2) Wednesday (3) Thursday o I
2022 sy 15 Dsoanso wand, 2024 & S0B8PS Knol B S0 abHHRE T
BP0 & S

(1) Sor¥arso (2) evtsado (3) rohardo Higrdo

23.

A person P started a business with %5,00,000. After 3 months, another person
joined P with ¥4,00,000 in the business. At the end of the year, out of the total
profit Q received a total of .?50 ,000including 20% of the profit for managing the business. Then
the amount P received is

Peode¥ 58 5,00,000 Srdrches® 2.8 o) Frodomrid. 3 Jve Sthard 4,00,000 Erarchost
Q 93 88 58 P & aesdtos® Sovtd. S05810°0806° Fndo e20 08 e 0o ABRT0DI0HS
e e2gos® 20% &° KenH&® Indorr 50,000 Erdraheih Qomr. wond P rodid ik

(1) 45000 (2) 55,000 (3) ¥60000 750,000

24.

A, B, and Cstarted a business with investments of ¥ 4,200, Z 8,400, ¥ 5,400 respectively. At the
end of the year they got a profit of ¥ 6,000 and they reinvested their profits in the business. At
the end of next year the ratio in which they get their profits is
A, B, Cen 553 4,200, T 8,400, 5,400 enatios® .8 osaroed) @rEodomrd. Sodd orodos®
08 T 6,000 ergfo 5D 0b. T8 erered a‘s=§3°6065 &BA EJé.:gea&n‘ '3)&3;63. SHHB JodS B0 & %
0B evere D48, '

7:14:9 (2) 8:11:17 (3) 23:54:69 (4) 29:56:36

25.

A rectangular plot of dimensions 210 meters x 120 meters is divided into 4 equal parts by two
roads each of width 12 meters running in the middle of it, one parallel to the length and the
other parallel to the breadth. Then the area of each part is (in Sq. meters)

2108 x 120 e Sodeorr Ko 2.8 88 SHErsE: B0 ) FPEHD, Jrken) SErossorT dotr
QU‘%‘O% Sodgre Sendy 12 . © ke Ko Botd o e S 4 J8e grrrenre DRI 0. wond
a.8%)¥) grifo GBwE) 38°050 (5. 06868)

(1) 10,692 (2) 6300 (3) 3.816 5,346

26.

For a square, the lengths of its side and diagonal are equal to the diameters of two unequal
circles; The ratio of the areas of the smaller circle and larger circle is

2.8 $EdHo Gns) 4Hessin EHBa DEYiine EHen Botd BBEPS D)BO TPODH JSPSDB, D
HyBo LB DL HyB2e ST A myE

(1) 2:3 (2) 1:3 1:2 (4) -2:5 @

27.

After 2022, the next immediate calmﬂ which will be same as 2022 is
2022 SosdySoerr dHTEEoNT 808 SBoKE Ko, 50, 2022 $%ard S0t 53 Kos 0.
(1) 2032 2033 (3) 2026 (4) 2028

———

6
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A solid cone i : i
28. s melted and with that entire material a sphere is made having volume of

3 ;
38,808 cm’. If the radius of the cone and sphere are equal, then height of the cone (in

&8 S0SH BB & Fngo DEP808° 0855080 38,808 cm? ¢Sy e e Boieth Bawth. 06D

a“;ﬁ”QO, ¥o 63",3.5"0;& [0 ©ONS, B0 Dy (P08 f)aéaéés).
(1) 42 (2) 25 @ 84 (4) 36

- e
29. PipeA orie fill a tank in 30 minutes and Pipe B can fill it in 45 minutes. But third Pipe C can
empt%{i ull tank in 15_ minutes. A and B are kept open for 15 minutes in the beginning and
then Cisalso OPEEefl‘ Since then the time required (in minutes) to empty the tank is
2.8 &R0 AT 2 30 Doredtie, Bed 258 45 ADsroS* dosiiut. S0 St i CRot

5088 1500ares” 320 abries:. antse 1500 566 A, B 88D dord. 868 CL &

805, )3 %008 7505 40D SSNS srisets waho (IEe®). gl b L
' (4) 90 E,-},‘r;)\y

) 13 s o) s

30. Two ml‘et pipes A and Bworking together for 4 hours fill 72 unitsof water ina tank having capacity
160 units. If A alone can fill the tank in 20 hours, the time taken by B alone to fill the tankis
(1) 2S5hours (2) 15hours (3) 21hours (4) 16hours
160 crden 30 o &8I A 506 B fripe S0 4 Kowos® 72 chrdl I8 ozo.

A2%)8 &85 20 Kobos® o8, Bag)8 &GS 00D BHHAHEM.
(1) 2580te (2) 15Hobes (3) 210t 16 Kotoen

31, Two trains run on parallel tracks at 126 kmph and 108 kmph. When they are
running in opposite directions they cross each other completelyin 5 seconds and when they are
running in the same direction a passenger sitting in the faster train sees that the other train

passes completely in 30 seconds. Then the length of the faster train is (in meters)
Toth Bth HEToSE HepeR Kot 126 8. . HHBa 108 8. 8. 3r508° HoRthEmTIon. ©d $;8T8

Ao SERGHEHDDED ©D LErFITES o HEEE 5 o HihKod. HON &8 8IS
SEREOBBID, Dy Jio8® JeH&K) Bens® Ertysy a8 HSrBHd Sokd Jend EH e
TEHAS 30 oth HBoS KoL, ©ond HKy Jt08° B¥) Beo FEH (1eYS’)

(1) 150 (2) 200 175 (4) 225

32, A train of 450 meters long moving with a speed of 65 km /hr crosses a man travelling in some
direction of the train in 27 seconds. Then the speed with which the man moving and hisdirection is
1) 15kmph; Same direction 2) 15kmph; Opposite direction

3)  Skmph; Same direction k. 4) Skmph; Opposite direction
450 Eoeos P& BB Ben Kok 65 8. 8. 508" HosreBLm 27 2EHes® o8 BES® BB &8

95890 treniod. © B8 BcseeBod Ao O BSrdod 6%,

(1) Kot 158.00;280% (2) Kot 158. &; ;885 68
Kot 58. &n; 28 B8 (4) Kot 58. bo; ;83564

___,__—-—-—_____' .

33. Two cubes, cach of volume 4,096 ¢.C., are Jf-imel} to form a cuboid. Then the difference)a between
th £ the cuboid and the total surface area of the two cubes is (in sq.cm

i oy %6860 SO Toth oo $0% o8 B8 DTl DO, EHHD

55,8 4,096 . 0. . g
ég@éo G a0 ZTO0 %00 Both WO &358Fe Fareryn Awards Ko Bo (. Ro. . 06%)

512 (2) 256 (3) 1,024 (4) 1,536

A
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Ina mixture of acid and water, if 1 liter of water is added, then the new mixture. contzfms 20%
acid. When 1 liter of acid is added to the new mixture, the acid in the resulting mixture ig

33-5 % . The percentage of acid in the original mixture is
e (acid) 8ck Hive Dhos® 1 Dot HBD E0BE & &8 DFHos” 20% B 60b. & &

1
DELRIL 1 besdo eyt 5DDE 508 e’ 33-% e sotnob. EB0tEnE®R Dot

Ko sdHavdo /o)

(1) so0 (2) 22% 25 (4) 37% ’

33.

'The speed of a motor boat in still water is SOkmph. If the motor boat travels 60 km

against the stream in 1hr 30 minutes, then the time taken by the boat to cover 100 km
along the stream is (in minutes)

NEDS B 28 Irerd K5 Go¥) Ao Kot S0 8. &. 1 Koo 30 AWres® HarHas
DHBT & IrerE HES 60 8. D, BAPBR, Barro ond & 55 100 &. . Pairdoswds 88
Shado (Airest)

(1) 130 (2) 110 (3) 135 (@) 100

36.°

A Motor Boat travelled to a point B from A and returned to A. The speed of the stream is
3 km/hr. If distance between A and B is 2 km and total time taken to the round trip is
30 minutes, then speed of the motor boat in still water is

A %08 BE 2.8 Tt 55 0irelod 80N A% T%ob. garide Sifo Kot 38. 8. en. A, B sotss
580 2 8. d. HBAHH 0 BosreadS HES 5o 30 DDodren wand, D0 Hip 555 Ko

(1) 8km/hr (2) 1km/hr 9km/hr (4) 6km/hr

37.

In a race of 1200 meters, A can beat B by 120 meters and in a race of 800 meters B can beat C
by 40 meter. In a race of 400 meters by how many meterscan A beat C ?

1200 . © 582 H0BoS* B A 120 . © re8® &80SKetb 560k 800 &b. & HtiH Hodod® C 9
40 2. © 85~8° B.BoiSKotd. 400 &, © 55 H0806° CO a0 s See® A £.80SKew ?

@ 58 (2) 42 (3) 60 (4) 54

38.

In three different vessels A, Band C, a syrup and water are mixed in the ratios of 2:3, 3:5and
5:7 respectively. 15 liters of mixture taken from A, 16 liters of mixture taken from Bandxliters
of mixture taken from C are mixed in a new vessel to have the ratio of syrup and water as 2:3
thenx =

ot DY Arden A, B0k Cob® 8 88T 56050 DB S&3 2:3,3: 5580k 5 : 7 dyios®

SO, A08 15068 DEsrdy, Biood 16Heas Daied) £0a> Cibool xbiss QoFSRR) BB
o8 58 SrBE° 5D 00 I8 DB 2:3 et EOBTE. wond x =

24 (2) 20 (3) 18 (4) 17

e

8
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39. The present age of A is twice the age of B. 15 years ago the age of A was thrice the
age of B. Then 25 years ago the age of A was |
(1) 7timestheageofB. . (2) 6timestheageofB, g%’g
(3) StimestheageofB. (4)  4timestheage of B.
A %) B8 BDy B B S Both Bey. 15 SoSdyore Bdo A Gy Sabiy B G’y
A o2 Bep. oW 25 YodyTre Bio A dn) HaHi)

@] B Gwg), iy 736w, (2) B Sckiind 636,

(3) BGwE) Scbdny S3p. (4) BGwE) Sl 436

40. The ratio of ages of Ram and Rahim after S years from now is 11 : 10. The ratio of their ages
4 years ago was 8 : 7. The ratio of their present ages is
oo, 88D © S {B 5 SoSEove Soegs 11 : 10. 4 SoSdyore Swoth 78 Scbine VP
8:7.7°0 B Sahdnye DYS.

(1) 19:17 SIS - W % (@) 28:25 (4) 21:25

41. Thecostpriceof anarticle B is 25% more than thatof an article A. Articles A and Bare marked
up by 30% and 20% respectively. Article A is sold at a discount of 10% and article Bissold ata
discount of 5%. If the selling price of article A is ¥ 51 less than the selling price of article B, then
the cost price of article Bis
B o3 .8 5505 o) E°%) 658 A 003 i) ) 5% &8 8ol 25% 28y, A, BEikde en SHIm
30% B35 20% S5 S @ESSDHIPD. A o3 $H 10% e‘j@o?’.aé‘é:v, B &3 5%0% 5% égo:;:é‘x)sv
DEoNOTE. A ©F 5555 Gnk) ©05% 58 B o Sxid Gt 008 $8 8ol 51 Erdrdben 85,38

B od siiysh Gty £ 85.
(1) 200 - 2250 (3) %260 (4) 300

42. The cost price of an article is 64% of the marked price. If the article is sold for 12% discount on
the marked price, then the profit percent is
28 S §%) &8 HEBS SEE° 64% HEOS 8D 12% Trowd 5y © $iiHi o8 erdf S0

(1) 48 (2) 285 37.5 (4) 25

43. Tnone kilometre race, A can give B a start of 100 m and can give C a start of 200 meter B can
give 20 min to C over a race of 200 metres. The time taken by B to run 200 meters

(1) 19 min (2) :l—min (3) g_f.min (4) %smin

o BB B 50B06° A, B 1008068 6% CR 200 g6’ 8oisKetd. 2005068 Hodos®
B. (2 20 Dskodpe 8ce8® AoSHowh. 200 008 ErSo HHAZHS B 588 dibhabo

(1) Dogwde (2) 1 osde Nagoer  (4) 2 agodre;
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44. A 25 digit number is such that its extreme digits are same and all other 23 digits are same
but different from extreme digits. If that number is divisible by 11, then end digit can’t be
&8 25 ©08en o Songs® D58 §5e ©08en SEPSOM dotran, DD 23 @oden SEFdorT Got D58
§°00 @S0 Yo dotran. & Sowg 113 arRob0lE, D56 w08 seErd @08

(1) 9 (2) 8 5 (4) 4
45. Let G be the GCD of three numbers 3,780, 3,465 and 3,003 and L be the LCM of 3,465 and
3,003. Then —=— - e
33G T 5
3,780, 3,465 500t 3,003 ©F 50rtd Sowge K. 1. &». G 58k 3,465 £00 3,003 @, &. . 9.
Leoowd —= - :
33G By -
65 (2) 780 (3) 455 (4) 429
. | G 2 .4 .
-46. Ifthesumofthe fractions 125, IOE isxand thesum of the fractions 73-,17 isythen x—y =
_ 6t
1 5 RN 4 y
1233 IOE o3 Hdwe o x HOAE 7-3-—, 15— O P3)swe Indo yeond X —y = N
1 - 13 11 3 )
1) 14— 13— 13— 4) 14— \¥
( ) 4 14 14 ( ) 14 d\T‘
47. If the digit in the units place of the square of an integer is x, then the sum of all possible g
distinct values of x is _ ¢
2.8 SFPTroBiin Gng) $Bos® bt S0’ ©08 x wand, xH DT ©) D) Dende Gn) Fndo \
25 (2) 27 6= (4) 32 Y
A 1A \y 2 ac
A _ ) 2 i3
3 [27| 2 : y 2 P i
- I EN _ p O
48. { —2197 x3[=125+ J +3= 1 T g "{T'{ .
{] ) N 512)*3 5}‘,:/ < f ) Axt)
7 vt b % k‘
@ 174 2) 31 33 =@ 1233 £

49. If xisan integersatisfying the equation 9x** +9x™*" =82 .t}.i?_n V12 + 2\/; -
x 038 9x7 +9x7 = 82 0 SDo8erR) 8, 963 .8 FrYHoR; Sowd VI2+24x =

(1) 14411 3+\/§ (3) BB (4) 2448

50. The set of all perfect numbers and twin primes among the numbers 1,2,3,4,5,6,7, 8,9is
1,2.3.4.56.7.8,9 50&35066 Q) S0 8 domgen HBA sy (880 ) BEPS SopgeR08 $Hd

(1) {1,23.457.9)(2) (134579 (3) (34579 {3.5,6,7)

A 10
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Adda2a97] ldentijt* the venn diagram which best represent the relation between triangles,
la.

t right angled triangles, isosceles triangles.

Bebesines, Soeri Bihesdives, 00nE Bihasve, SHBr i Bbaine $i Sonoplyirdod

SO BS Sl 800l
v L %
= Q)

§2.  Aranks 13" from the topand Branks 1 7* from the bottom in a class. If the rank of Cis Sranks
below A and 5 ranks above B, then the number of students of the class1s
&% $6KBE° A pibol 135 Frdos%in Stk Bdod ol 178 Fpios'im ey, Caws; o AS
§ e Y089 S0 B § Paren 0 doll, & S6106° Doye Sowy,
39 (2) 29 (3) 19 (4) 130

53. In the following diagram, if triangle represents Cricket players, circle represents Foothall
players, rectangle represents Hockey players and rhombus represents Tennis players, then
the difference between the number of players who can play all the games except Hqﬂ_:__l_{:giand
the number of players who can play all the four games is equal to

A et

) Numberof players who can play all the games except Tennis.
) Number of players who can play only Tennis.
(3) Numberof players whocan play only Hockey.
(4) Numberof players whocan play all the games except Football.
D fbod® Btbeo E365 by, Syfo 35 =8 sbmiD, 85 SEtHo #E ebmiH Mo
Shwon S0 DS smeHir0Y 98 85 ADS 6 st st sbrd tonh, e
sher wile sbird Sop fo gto
(1) BYN S DADS ol sbe 8o P Sop Sdimdo
(2) Seo DS dmgcd eiiile wborm) Sosg Bieio
(3) Efeo:Fddrgid eife et Sow D Nidrdo
@ 45 e 8y DonDR e shen atire SOTE Soph $drdo
11



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

GET IT ON
x ) - i Google Play
nd a circular table in 2 park. A an Fare faci

Adda v
@] A B C D E F are sitting arou

g are facing the direction oppositd Lo the centre. [

centre of the table and the remainin 1P M' There is only one

is sitting second to the left of B, F is sitting second 10 ShE B S
rson between B 3 . narson sitting toimmediate righto . )
ﬁ WMH;.E%LPE;A. B.C. D, E, Fen gr6% 0 6y, A oo b magéﬂfmﬁ
mﬁﬂ.mmﬁo@:}! tormiiesdy % e Soporrid o aﬂﬂ:- B Eﬁ-f’usﬁa_t:a:.-.
84,305 58 D. ASHA 3% o Bors S8 F. B, Ot S0 S Ay eowd P

DA FOI GRSt 54 * B
; 2) > o haped rd{n}and one is at th

55. 5persons A, B, C, D, E are sitting at the corners of square shaped garce -5
centre. A is adjacent toC; B, E, Dare notona line; Aand Dare equidistant from C; A, E, Dare
not on a line, Then the personssitting at the corners are !
S ustod® méagﬁmwagmmﬁ Fothdoen A, B,C.D. Bea Snlyn .
A4S Camh. B, B, Deve o 2ikh; A0ah Des CH#Ss 08’ 7. A.B.Deves
al%éﬁ?-mﬁ-ﬂﬁmﬁqu Ky #ED

_ ((0) ACDE  (3) ABGD .~ (3) BCDE (4 BADE

56. A goes SO0 metersstraight from his house: Heturns to his left and walks 1 km. He then goes

11 km after turning to his right to reach his office. Ifhis office is located in North - East
2 y
direction from his house, then the direction in which A started moving initially from his house
and the shortest distance from his house to his office is '
1) South - East,2 km EE] North, 2km
East, J5km 4) West, J5km

355 50l Sod A tore S00 it & Beeth. 5 DEDTB P 80N wth 1 8. . M. v S
&5 HA38 30 son ot 11 8. 0. 30, 83 sTjpdel) ThSolrd, 87 sTpsdio 83 sod ol
Gy BES a0, 85 a0l ol A orol® 5 036 pabardct & B Hidl 85 sobibol 83

Soryedinil fo Shi drlo,
(1) efbo.28 5. (2) &i6o,28.5:
gy, 5 8., (4) e, 5.

ﬁ- 6 Students 8,, 55, 8y, Sy, 54, S wrote an entrance exam and the following is the information
regarding theirmarks. Sumofthemarksofallis 1000. 8;got more marks than &, but less than
8, Sggot the least marksamong them. 400 marksisthe highest mark and 60 marks isthe least
‘mark among these six students. The position of the student having highest marksis | and the
position of the student having least mark is 6. 1f 8, got 400 marks, S¢'s position in the list is 2
from the last, the average marksof last 3 students ié?s}then the total marks uI‘IS: and 8;is
610 5550 1, 51, 53,8, S5O0 8w 2.8 1 185 b, 78 Kertly Hofotiolis Siicres &
BYOSS snliSD. solid drthyo 3580 1000, 8,8 508 &rdyes S, %08 2% o9 8, ol 8%
msﬁéﬁaﬁﬁp&ﬁmﬁﬂﬁwﬁﬂgﬁﬁp 400 Bt ¥ Sy 60. 10
oy Mﬁ E’m 1 Mﬁ e SrobR IR 8 Ao 6. 8, 400Emtiyen o, S, 058
ok Bors » DD S Emigen 95608, 8; 050 80 Ao Srtyes.

(1) 225 (2) 185 315 (4) 200



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

ik

58. Each statement is followed by two arguments numbered I and IL Decide which of the
arguments 1s a strong argument and which is a weak argument.
Statement: Should there be blended learning in 2ducation system ?
Arguments: 1. Yes. This method allows students to work at their own pace, ensuring that
they fully understand new concepts.
IL. No. Possession of electronic gadgets in classroom and access to social media
diverts most of the students from the actual concepts and lessons.

Only Iisstrong. 2) OnlyIlisstrong.
,,3 p Both I'and IT are strong. 4) BothIandIIareweak.
B8 55550 Bobs I, T e ri508% Both arisiser otrow. 8 FEIOE DB noBIE’, OB wolrdBss
Qaozed. B4R
%

BSSI0 1 DgSSHS® 90BE BBYR dotksetsdre ?
TS : I odHdh. & 958 F prisedn Grom oSS TS 5erRs #E°IAKe, doeghHe
TOP oS’ OEROTTIE @588
I sth. $8K8KBS° dogas B EON G0tk 9, RHHS DBosr Boddotio Heo
©3) TP $008 Dergei 68 e grdsen, Foee 508 T0R HE)% HY)Jon.
(1) TdrgedaoHDso (2) 11 Sr@dooSDse
T:5Ba I e Both 2o (4) T Ien ot 2olrsFd
59. FEach statement is followed by two arguments numbered I and II. Decide which of the
arguments is a strong argument and which is a weak argument.
Statement: Should there be high level of violence in films in the name of entertainment?
Arguments: I. No. Exposure to high level of violence causes behavioural changes in
human attitude particularly in children and youth there by developing

criminal thoughts in mind.
II. Yes. When the story demands the film makers have no other go

@ Only I'isstrong. (2) OnlyIlisstrong.
(3) BothIandIIavestrong. (4) BothIandIlare weak.
B8 B53550 Sow I, I e Srederdid Botdh ardien Gotron. FES0S DB noPSE’, DB BolrSBHIG
QBanod.

B55380 1 DFBoSKEE BISreS* Trod wEHE Ppows® SokSedodTe?
FEsen : 1. B, 0808 2!;0336‘ &) BP0 8 oIR8 Trsosy SrS53008°  Somgore
Boes HOAD dnds Ppos” BHES SERN Srépensten Bhokray. T H© 0
0550, 5° B0 & Sden BT 0.
11, o, 5% odsSs835:t Ao e 36 o6 ok
(1) Isregab oo (2) I Sr@Ed aoDlb |
(3) I0a5» [Teo Bod poS (4) 10605 ITen Botd pedrSRHRD

60. A Person facing West moves 30 meters towards West and then moves a distance of 80 meters
North and later moves_30 meters towards West again. The distance of its final position from

the starting point is
(1) 90m (2) 85m £3) 100m (4) 105m
Do By 5y 28 S8 30 oty He508 BHH SED T Bt 80 Dot 6380 FHHIEA 0

30 Bty BB St G50 A0 o0l 68 DS ket B s o o,
(1) 90%. (2) 85%. 100 &. (4) 105&.
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61.

is followed by two

o it
. o true is given and 1 o
In this question, a statement which is to be taken as ) sl o b

. i is (are
assumptions numbered I & II. Decide which of the assumption (s) (

statement. “Every

Statement: An instruction on the hall ticket :
candidate has to be in the examination ha

commences. Not even a late by 1 A e he exam at an
If not mentioned in hall ticket, candidates may come to the € y

for a competitive examination 18 i
11 before the examination

Assumptions: I.

time as per their wish. ) ]
II. In a Competitive examination, every candidate should be given equa

chance of writing the exam so as to filter the meritorious students.
(2) Onlyassumption II is implicit.

,(’Y) Only assumption I is implicit. .
Neither I nor ITis implicit.

(3) Bothassumptions I & I are implicit. (4)
& B0 H¥)8° DD PAoTIODS 28 PS50 TR Soad Botd FPHKen SOLPO®. D &S (e0) &
BES806° rASE’ /oeAsS 1HBoiSod.
5580 : 28NS H6% Bw¥) S 388 DO BrSS Ber Hob. “HO% Intsen SR8 5008 (H8 @559
HOY KBS® Gomrd. 2.8 Dkniiin sedes) SrE ©HH 8030,
eSS : I ©b @ahsdra, @ﬁ'étlia:w 0 3,35:535‘50 D B0HEnS"ZS HEEH SIS
IL 2% 98 5656 084 Ko oEhoH SEH° DTS Hd o8 0K EPohTeds  BSmS
©HsPEo Bl otnob. '

I @D ooh 0d (2) II&eEDon eod

(3) I, IIenBokr oeh dayon (4) I8 DG A Gotd

62.

In this question, a statement which is to be taken as true is given and it is followed by two
assumptions numbered I & II. Decide which of the assumption (s) is (are) implicit of the
statement.
Statement: The national education policy brings major changes in the education system.
Assumptions: I. Present education system is not supporting the needs of the nation.

II. Present education system is teacher centric.
(1) Only assumption I'is implicit. (2) Onlyassumption ITis implicit.
(3) BothI& Ilareimplicit. (4) Neither InorIIisimplicit.

& Bob HHE° N FroUWSORS &8 BSio ) Jowd Both FFEBes dotray. D eSS () &
H55506° eASEE /oSS HBoS0a.

@550 : Do Boiiod” a8 Doy Do BES Srtbpes Bikoth Sx006

sden: I 3% 050ed B98 o derso 88620 B EiE
IL. 6270505t BoSor™ (508 Doy 5,55 50 3308 L

(1) Tsrgdhon aod (2) Nsrgdonacs

(3) I,IIe»Botir ooh dyom 180 IIO8 oA dokieh
= =

14
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63. Directions : In this question a statement is given followed by two conclusions that can be
derived from the statement either directly or indirectly or may not be derived. Which
conclusion (s) follow (s) from the statement ?

Statement: One of the prime ministers of India said, “Wastage of anything is crime.
Wastage of food is double crime.”
Conclusions: I The issue of food wastage is of high importance to fight hunger, raise
income and improve food security in India.
IT. Food wastage is morally wrong because there are many people who are

. hungry simply because they have no food.
(1) onlyIfollows. (2) onlyIIfollows.

(3) BothI& ITfollows. (4) Neither Inor I follows.
misen 1 & BE6° a8 G550 ol Botb bomymen adgman. 89 & BiSto Hod BEgorr St
56°gore 53 Borren S0t Boe @550 0 59 Somes SERFHS). O Sommren SIS

©RROPr PG00, \
BoS%0:  TPBEBE0 g e¥ HrD ey, “BOZT Hye Do Fo. eFTR Hyp Ddbtio
3803 380", .

boopren: L POEBE06° 68D mawoistos®, i) DoSKod® WO Y FESH
0508 e3FoeR) Hyee Bohiio ©F ©o¥o Trer PrEnpEH 8D 6ob.
I oo Sy Babo olp FeEore S Joth¥od eiFdo 82 smore
PP 08 [Daze) e 0T,
(1) ISrEDedso00 (2) IErEd 80k
@ 1& ITen Botir &:k0Rom (4) 1& Ilen Botr e:605

64. Directions : In this question a statement is given followed by two conclusions that can be
derived from the statement either directly or indirectly or may not be derived. Which
conclusion (s) follow (s) from the statement ?

Statement:  ‘Marriages are made in Heaven.’
Conclusions: I. Itisadivine powerthat ultimately decides who should marry whom.
I1. Marriages are made in heaven before the couple even meet on earth.

(1) OnlyIfollows. (2) OnlyIIfollows.

(3) BothI& ITfollows. (4) Neither Inor I follows.

Smisiden : & BHE® o8 PBiso Soad Totd Sorjren sidprron. 89 @ Biso Hod BEgerT Gia
356" ore %) Soeyres i) Soe @HE80 %08 3035 Sowyren SEDSD). D Somyren H5SHEN

BB oo,
PSSt0 . ‘Darsen ﬁ;,téoée 2 BrHaeow’. oy
Soopren 1 [ QB QB0 Daprirees® ©o8or Aanoid &b BHE8 %ﬁ%
L 0. esot> 258 B Bos¥iinod $5o8" 0 Dapies 20h dotrw.
[5r8 0oR000 (2) I$mEDohiokod
(3) 1& IlenBotr edOEON (4) 1& IlenBotir 0536059
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. . r the question
65. Directions: Decide whether the data provided in the two statements given unde

is sufficient to answer the question or not. Given option

(1) ifthedatainstatementIalone is sufficient to answer the question;

(2) ifthedatainstatement ILalone ig sufficient to answer the question; -

(3) ifthe data in both the statements I & Il together is sufficient to answer the ques an.,
ifthe data in both the statements 1 & II togetheris not sufficient to answer the question.

Is th(_e product L;x}\an irrational number ? { @

I:  xisanirrational number. i

II:  yisanirrational number.

KeiSSen 1 8 (BHBIHSS 5y Gotd EsTes’ 68 Sdrato @ HHE Sl B8 SASS’

=& QBowoSod. :

S0 BHE50 T 650 B0 SrE Bk SErmsny a8 $n5g8 (1) ©d;

00 5550 11 6% $smarbo Srih G SEPTEn a8 $A5EE (2)d;

G550 1 & [o65 SErarto S8 HHH SEPTRHED 508 8538 (3) @)

B55%0 1 & TToE9 Ssimarbo SOB 81D SEFTFSn asr0s SNS0s 58 (4) o,

D ©0DFEA) 1980[08.

080 xye¥ 88 Sogg wHdorr?

I: x2o%5580% Sows. Ege
g

IL: ye¥$sdch Sony.

66. Directions: Decide whether the data provided in the two statements given under the question
' is sufficient to answer the question or not. Given option
if the data in statement I alone is sufficient to answer the question;

(2) ifthedata instatement IT alone issufficient to answer the question;

(3) ifthedata in both the statementsI & 11 together is sufficient to answer the question;

(4) ifthe datainboth thestatements I& IT together is not sufficient to answer the question.

What is the perimeter of the circle ?

I.  Thecentre(0,0)of the circle is at a distance of 5 units from the point P (3, 4)

II.  Theimages of P with respect to both x-axis and y-axis lie on the circle

Srisden : & BEOIODD 2Dy Botd BESTes® &) SSrTrso 8 HEHD SErerard) BN $ASS

& Sgonoeﬂo&.

E00 PS50 I 650 $irarto S 4% Hrersin admes $a538 (1) ed;

S0 B5550 I16% SSPTrE0 SPED HHDH SErmrsn aSmR8 $AS3E (2) ©d;

B5550 1 & ILoE* S5 T60 80D HES Sirgrksn adwid 588 (3) od);

©5550 1 & [0 SirarBo SORRP 5836 Kiirgrsin s¥l8 SASISEE (4) ©d),

8o 0)5eR) ool

$y8 506 Do ?

I %8300 (0,0)Dotdih P(3,4) 508 5 ey o 408

IL x50 yogeo 83 P, 688ome 550 dotran '

R~ | 16
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67. Directions: Consider the following information and answer the question given below

For the selection of a manager in a company, the following are the conditions to be satisfied.

A Candidate

(a) mustbeagraduate with a minimum of 60% marks -/

(b) ason 1*July 2022, must have ?esg than 30 years v/ o
(¢) musthaveatleast 50% marksinX class L

(d) musthaveadiploma /degree / P.G degree in management /

(e) musthaveminimum 1 year work experience. ./

In case a Candidate satisfies all the above conditions, except

I.  (e)above, hemust have 60% and above at X class and P.G degree in management

II. (a) above, he must have minimum 2 years of work experience.
If any information is not known, then such case will be referred to CEO.

Mr. X was born on 15 August 1995, and has graduation and P.G degree in management. He

has 1! years of work experience. During his academic career from XI standard he got 75%:

marks. Then Mr. X

(1) Canberecruited as manager

(2) Cannot be recruited since only one condition is not satisfied

(3) Cannotbe recruited because he does not have minimum 2 years work experience
_(4)- Willbe referred to CEO '

SrSden : &1 Bod DSTre & Bob B are s5wRs H880080s.

2.5 502d &° Db D D¥nESTeD8 85 Bod Dodhiren Ey) HET#D.

a8 o0 '

(a) %80 60% Srtnes® H6eHHg dowd

(b) Sy July 1,2022 5838 30 Sosd ores’ domd

(c) D& 858" EIK0 50% Srdnes SOA Goted

(@) DIzt & adpsr /eyt (degree)/ P.GHep 59 oD

(e) ®dB0 2.8 BosE 8o HE® wHEHo BoTD.

&5 ogf;d DS B2IS 8y $0D '

L () 8;256:58 28, 555 851586° 60% B8 008508 36 drtyen $HOG DIZ5 PG

S8 GoTrd
IL (2) 9 &% $535% 28, 0828 EVS0 28058070 B wigHo aomd

28 02D ) D ST BDCHERE, 0er08 o5 CEO $0gB00% H0datsod.
Mr. X &) 15, 1995 & et 5005 B8 6° Bixefhord Bty P.G e Frod ey, ©328

1 oo S0 ehso dob. XI 8518 $08 680 dmyistos® 75% drdnes omd. opd

Mr. X
B8 P DoHDOSTES S SE)
(2)  ed e dasio Eb HOSEH EHS RERAGH

(3)  shio 2 Boss e S0 @S B S8, HE T
(4) CEOSoboi® Hotesd
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68. Directions: Consider the following information and answer the question given below :

For the selection of a manager in a company, the following are the conditions to be satisfied.
A Candidate

(a) mustbeagraduate with a minimum of 60% marks

(b) ason 1 July 2022, must have less than 30 years ¥~

(c) musthave atleast 50% marksin X class «~ EfE

(d) musthave adiploma /degree / P.G degree in management,./ =
() musthave minimum 1 year work experience.™"

In case a Candidate satisfies all the above conditions, except

L. (e) above, he must have 60% and above at X class and P.G degree in management

II. (a) above, he must have minimum 2 years of work experience.

If any information is not known, then such case will be referred to CEO.

Mr. Y was a 1% class student throught his academic career and completed his 25" birth day on
2™ September 2017. Prior to applying for this post of manager, he worked as assistant
manager from 1**July 2018 to 3% August 2019. He had a diploma in management from ITM.

ThenMr. Y o ;

) Canbe appointed as manager gt
(2) Cannotbe appointed as he is above 30 years of age T
(3) Cannotbe appointed as he does not have 2 years work experience v -}
(4) Canberefered to CEO ' W N
BriSen : 6 Bob BT e & ()% waren SSEI8 H68D0808. W i
2.8 5020 &° HFes6 D DETHTrRS 88 Bobd DHikven By DETD. B B
a8 08

(a) 5%o 60% Srtnes® HausEhs sowd

(b) S5y July 1,2022 738 30 D05 r0SH domd

() 1 B8 SBKBS® 50B0 50% SrSen SOA doreDd _

(d) @Ipots & &S / Stz (degree)/ P.G Bep 8D dowrd

(e) B30 a8 Bobs 80 HAS® S0 Sowd.

2.8 00 DS DAWBHY B HBD

L () D 85055 8, 655 SEKBS* 60% B wosSod H&ysS St en HBED HIZo5 & P.G
Hep 858 dotrd i

IL (a)R 8% 55358 8, 0308 5150 2 Sosé 000 $0 ©HES50 domrd
e¥ o Y OFT e  BOHEDB, ©erod 0538 CEO Soddohs
HoHeathéob. -

Mr. Y 089 Hurgi5:806° J53ptie Snse $5K8 DR SR HBA W06 2,20175 255 D8

%22 KB Botooh. & DHIesb asfyros 0300 BTIE S00th @B 6 HIeb e e=s 1,2018 ol

5 3, 2019555 508, [IM 08 0508 Hdz,06 AREm dod. ©ZpeH Mr. YO

| BBesce AEHD0BHS) |

(2) @328 3035058070 PD SToN EidrE Hdaoe DoHIoSSED

(3)  280mHmo oS0 B 58 Didacn R0t

(4) CEO&o@aods Hodsd)
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69,  Study the following information carefully and answer the questions given below,
There iz a family of 8 members w Dis the grand-son of F. G is the son-in-
law of C. F'is the mother of B. A is the wife of B. H is the daughter of Cand mother of D. Eis the
daughterof A.

Whois the father of D? %

Bod Himarori S et T Box atwds BEwh uwbiod.

A,B.C.D,E.F.G, He 8 500 Sghen fio 2. thivono aod, F @) 5:50 D. Cnd) sexh G. B
Foty 8D F. BawE) o08; A CSod; dnitett oo Dt S0 H AGE Sr E.

D Gty Sond 25500 ?

(1) ¢ (2) B (3) D @) ¢

70. Assertion I:ﬁ} . Antibiotics do not treat the Corona infection.
Reason(R) : Coronaisavirus; nota bacteria.
Choose the correct option from the following:
(1) (A)istrue, (R)is true and (R} is the correct explanation of (A)
(2) (A)istrue, (R)istrue but (R} isnot the correct explanation of (A ¥
(3) (A)isTruebut(R)is False
(4) (A)isFalsebut(R)isTrue
Dy88i0 (A): clrododra5) 56 sotubiii dabe Habs.
o (R):  £6% wid ot 365, onfodir o,
&1 ol r36° ol 50 wound HERER i JodEioll:
([ (A).(R)enaiiiiues S0 (R) e (4) b 0@ 2
(2) (A) (R) e85, o0 (R) 030 (A) HH0508 Jiin o
(3) (A)sgHesd (R)Fdnsn
(4) (A)ssmmn=h(R)ds8

71. Six persons Py, P, P, P, P; and P live one on each floor in a building having six
floors numbered from bottom to top. Py lives in a floor immediately below the floor of
PP lives in the floor immediately below the floor of P, Three people live between the

il:_mm of Py and P,[E does not live in the top most fleorJP, does not show interest to
live on any floor below the floor of Py Ps and Py live on the even numbered floors. Then

the perwnéllfl f._'lj_l:‘l_._i’}re:spﬂlive]ﬂivﬁ_-.in thefloors.

Bols ol 28 1508 6 565 sotien o glded® ettt &be Py, Py, Py, Py, Pobbain Pyen
by P DStk P sy wodiD 5 Jobd dolf & sodid® P; dotrth. Py o
sossh 3 Sobd ot 4y codips’ Py solrD. Pobbab Py &) sodipe S05,6° St
S DSbpTh. elpdi B &y wodind® P, 2hodth. P, &) wodith Sod &y O
wod:5et doms P, 6l drdh, Pt Pgen K0Sy i sodiud® Db, eond P,
Bl Py oo D:%od eodipe Hoyge
[ s&! (2) 3&S (3) 2&s (4) a&s
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72. Readthe statementg

and mark the correct answer.
Statement I :

The prices of petrol products have increased substantially during the past fey

months in India ,
StatementIT: The prices of many goods in India are increasing now-a-days

These statements may have a cause and effect relationship or may have independent cauges
or be the effects of independent causes.

&1)  liscauseandIl is effect
(2) Miscauseand] is effect
(3) LIlareeffectsof independent causes
(4) I, Il are causes of independent effects
SIS0 S69 $6@S RBEorgreRe)) 10w,
OSSS0I: 88 Bdos® K §Q) Jvenrr, BEsen dd e sden Keadabore BBran
BSISOIT: & ot o0t s Bos® e SRH Fen BB o,

& ES e S 260t e 67 $0m0T) SO Gotisity Sc yors Swmmes S5ty e
DB e Hararen o550y,

(1) IsvSeso IT gersso
(2) Hsoemo I &erso

L, ITen Botb 5o sebeme ghaparen

. (4) I TIenBoth Sy8ois Garare e

By
22

73.  Ifthe English alphabet is coded with numbers from 1 to 26 starting from the last letter to the

ﬁxjst letter. A meaningful word is hidden in the codes given in the following options. That code is
80l HBHros® e¥tro epbd ©E50 K08 Ak ©EB0 S 1 508 26 55% Ko Bonges® miomd.
Bod %QJ:S oPes® 105 aEaieSﬁ T &) 8 ©8H08R :;csg TH A0 . & g B

T — ) S I N A ot
(1) 8;':1-81-“-22_\—14_-1‘;\—15 U R 2) 11-12-13-232-26 ¥ r X
. (3) T8-7-9-14mdrg6 et )) 8-18-14-11-15-22 W&

= 1" —
74. Assertion (A): Now-a-days, knee painisa common complaint. Ignee replacement isa boon
. for such sufferers. .

Reason (R): = Necessity is the mother of invention. A - & Lo
Choose the correct option from the following: - 2:;: €5
(1) (A)istrue, (R)istrue and (R)is the correct explanation of (A) iy (N
(2) (A)istrue, (R)istriebut (R)isnot the correct explanation of (A) "'cr‘;_‘;:" Y
(3) (A)isTruebut(R)isFalse Y 0t
(4) (A)isFalsebut (R)is True _ "t J
83'8,366‘50 (A) H &8 6533"65: aresed) 5“3)_] s"m"ﬁm g;gbscs) @eP a]'né éaa‘ﬁé 35“5%3 éﬁﬁg& 2, édﬁo :; ,_?
580 (R): &880 89D Sk 89 Sot3a. Pt \,j 3
& Bob TS 08 B0 oS SEPTHE0D Jo%HSSol: T {f{ £ o

(A), (R)en Segsinen 50050 (R) w36 (A) % 56605 D588 it
(2) _(A): (R)e» 55000, 5°0 (R) 036 (A)  50@0% 560 526 iy
(3) " (A) 38550 5D (R) S50 502 o
(4) (A)D8Ew s (R) S5 ;_- i :,
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75.  Ina code language, "Mathematics improves Reasoning’ is coded as ‘du my vu'; ‘Rensoning
improves logical thinking’ is coded as vy In(du ya' and ‘Logical thunking improves common
sense’ is coded as 'ma ya du 1 ta’ then in the same code language ‘Mathematies improves
logical thinking' is coded as

&5 O°E oud® "Mathematics improves Reasoning' & ‘du mu vu' &8); ‘Reasoning improves
logical thinking' & 'vu ludu ya’' &8 ‘Logical thinking improves common sense’ 5% ‘ma ya du lu
ta' s TE 35 . 0B '8 ooi6* ‘Mathematics improves logical thinking' % 8°€ Shasipes 538
(1) velumuya (2) tayamulu

(3] dumuyalu (4) mu yaduvu

P

76. In a certain code “Write exin wéll” s writton as ‘Im ¥’ ok, Al i wdll" is written as 'ef
jif ', “Exah id easy” is written as ‘sd j wi. Then using this code “All write exam well" is
written as "

2.8 BE g’ “Write exam well” # 'Im s ok re et “All is well” i ‘ek jp pm', o pinth
“Exam is casy” 2 'rs jp wk'e 3%, G EBE st ~All write cxam well” H @& 35,8

(1) ekrsjppm @ ek rslim pm

(3) wkijprspm . (4) ekrsjpwk

77. Choose the correct alternative from the given ones that will complete the series.

CLFU, 10
a0 o8 Sl CX, FU, , LOEd0 %o go SHR0ES olyevdy STl
(1) HS (2) JR (3) 1Q (4)) IR

78. ‘Thelettersof the English alphabet are coded as follows:
k™ Jetter of the alphabet iscoded as
(i) (k+17)*letterwhen]l £k <9
(ii) (k-1)™letterwhen10S k<18 %
(1ii) (k-18)"letterwhen19 Sk <26
For decoding reverse process is used.
The word that is coded as GAURDis
sori egsirestn ogub 6 Sob ddorr FE 0. kS oo £ wgto.
(i) (k+17)Se500,1 S k S 9eoniBe
(i) (k-1)HeoLbo,10 S k S 18asiS
(iii) (k-18)Fwibo,195kS 26 weniRl
AetE St 15,584 558 S80D.
GAURD 8% erahnls $0
(1) YRCQU YSDAV (3) XRDPV (4) YSDNA
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79.  Whatshould come in the place of question mark (%) in the following alpha-numeric series?

. BoDEES 0w A6 5 10tk (7) piSod’ DO TN 4ol EEy08 ? o2
B3E0sG BK G1 M,
(1) MisQ (2) K130 @) K13Q (4) Kiss

80. Choose the correct option which contains the letters that are to be placed in order in the blank
places to have a complete series

B0 Soiir o Babems, prbos® Sdum 4ol B ST Ko 0@ s HyFol.
Z@TgNKHEB °F B%
(1) X.RE (2) W.RE W.QE (4) X.QE

81. Pointing toa man in the photograph, A said, “His daugther’s mother is the daughter-in-law
of my father”. How is A related to the man?

(1) Sister-in-law (2) Brother-in-law (3) Spouse (47 Sibling
&8 Pt .8 S80 Srbiin A e s, "SED Srith Gud; 80 o Sod G Bu. e 538 A7
& o Sonodo.
(1) =63 (2) = (3) dodernd & ooty

82. A is only daughter of B, C is husband of B, D is father of C and E is wife of I, then A
isrelatedtoEas
(1) GrandSon (2) Daughter-in-law (3) Uncle (#) Grand Daughter
B Ging) 538 S A, B @S 65 C. C &%) Sod Didats D @k o6; E. wdpth E% A& e
Honotio,
(1) S8 (2) e (3) drsmd (3) mssocw

83, If'B'means’+’,'D means ‘', 'Q means'+' and ‘R’ means ‘~* then 23Q19R24B2D3=
‘Bwoll '+, D' woll »', '@ ool '+ flaln ‘R el = sond 23QI19R24B2D3=
(1) 22 @) s (3) 12 (4) 17

84. Thesymbols used to represent ¥, % #, >, <and = are respectively A, B, C, D, Eand F. Consider
the statements PAQ, QFR and SER. The correct implications from given statements are
. # #, > <0 =030 A, B, C, D, Eboin Fos* Srdoom®. PAQ, QFR 8¢k SER &3
BSidroih $080otol. 88 GiSTuied 53, sacs boyme
PDSRCP  (2) PESRBF  (3) RBQPFS  (4) PASPCR

85.. A series of fractions that follow a definite pattern is given below. Fill the blank space by the
correct answer from the given 4 options to complete the series without breaking the pattern.
Bots iy Damyes &5 Shalioonsd Dabien, Sdmmon, 660 ad o890, a0 erid aDise
$o08 10 Gas BFoiD JS'A 6 Eb Maske08 Horo SurDeD rSodod. )

(g en e 216 :
2 5 10 17, o 37
123 (2) 3 125
@ = u (3)- 12 (4
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86. Choose a term which bears the same relationship with the third term as the first two
terms bear.

Bt Totd Hrre s Dol Somotsnots werotd $onogrd) S 508" SONS Hurd) afyE ol
Stag:Hind :: Ram:

(@) Ewe (2) Hart (3)  Earl (4) Heifer
87. Choose a term which bears the same relationship with the third term as the first two
terms bear.
Ftse Both HEre Hots Do KonoLEmors eerol SonomRR) KD Hos® SOAD Sy inslol
OPQ:PRT:FGH:
(1) GIR (2) GIL (B) ax (4) EDC
88. Select the related number from the given alternatives.
B PEgimdire $08 Sonod Soah Mol EyE
1 444:21:964: et z
()] 31 (2) 41 (3) 24 (4) 29

———

89. Four pairs of_words are given in the options below in which three pairs are alikein a certain
way and one is odd (different). Choose the odd pair. '
BIH% 00508 5D Teord ade SEeS® K wden o8 g SOA ayon. 288 DHorr &ob.

DK &) e dinslod teg
E |

(1) Short:long  (2) Light:Heavy ((3]) Crime:Blame (4) Poor:Rich

: P W S -
90. Among the given numbers 1 311 ,151,161,181,191, one is different from the othersin one way. It

is . ‘}:I: I

: =13
ad)S domgen 131,151,161,181,191 o6t 2,58 NDS B8 DKo dotnod. o T3l
(1) 131 (2). 181 161 (4) 191

91. Choose the odd one out of the four options given below.
& (Bots omD) Feenidd e) o ADS 8 o8 PS o &5 T &ysod.

(1) V21T (2¥) N(5L (3) I8G (4) E4C
92. Choose the odd one out of the four options given below.
) Earth (2) Water (3) Fire (4) Environment
0B andyS Teord nysres® HADS T8 $08 JPJom & TP &SPl
(1) & (2), . 5% ofy (4) Somgsdmo

93. Choose the correct option whose group numbers follow the same pattern as that of the

pattern in two groups of numbers given in the question
&S 8Dy Botd Somge SKrFes D Sowge BT E&md) 308 Somgeoid) D) oS

ol 8ol
" 11:121:110 ;: 15:225:210 =
(1) 9:81:70 19:36;1:342 (3) 17:288:272  (4) 16:225:239

—y b
A 23
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94. Ifa cuboid of length 81cm, breadth27 cm and height 9 cm is cut into 729 smaller identical

cubes, then the length of the edge of each smaller cube is -
(1) lem (2) 3em (3) 9em (4) "aron
81 20. . 0 K, 27 20. . © Bten), 9 V0. .0 I o 2.8 Y ooy 588 DEPSOrT &y 729 0%
DT DAY 2.5%%) b GwE) ©oid UD.
| (1) 1%0.5. (2) 3%0. 8. (3) 9%o0.5. 7?00-5)-

95. A Solid cube of 4 inches edge has been painted with red, green and yellow colours
such that each colour appears on a pair of opposite faces. It has been cut into one inch
cubes. The number of small one inch cubes' that have only one face painted with red
colouris

A v

4 LodEro woidh Ko o8 KE s G NHTHD Sopwen IBD, ebHHS), S Sorben
8D, 1 worb¥o w0 Ko %) SIS & DD PoBoT. 8.8 & Eopiing DY Sord

BOAY 2.8 ©orHEfo Hodswe Jopg.
(1) 16 24 (3) 8 ) 9

.96. Select the pair from the options that has a relationship similar to that in the pair
labelled (A).

a8 (A) %% Sowotso erod éomow&;é&)ﬁé 285 pd)ro 508 dinslod

e
(A) gg

oA Nelle
@ | OO0 elle

—

97. All the faces of a cube are labelled with I, II, IIL, IV, V, VI one on each. The 3 positions
of a cube are shown below. The face opposite to face containing I contains:: //
e $o5550 Gy @) oo FHEND 8K 8mr I IL IIL IV, V, VI & H80s528:59. & o
%) 3 Hioen & BoB BLEVOE® EPTRlKD, 19§D &) Sresns AHHM a0 Svpke B e,oga )

I I \
I p I Y i |V \s

T —

E v (2) W (3) @ v v
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98. Figure (A) is given below. O . R .
DL o — ne part of this figure is missing. Choose the missing part

00 (A) 8ol adwdod. & %
S 8 S06" e grio eop ot (missing). @ eni gerri) & ol &0y

reord 0DE°0 ok dknstod.
oyl
s
Fig (A)
& @ NX
(3 @

99, The total number of squares in the figure giveﬁ below is
& 8o BdyS HLEé® Indo SddRre Sogy.

(1) 32 (2) 42
35 (4) 45

r is placed on the line MN, then the option among the

100. In the question figure, assume a mirro
answer figure that shows the correct imageis

B Heosns® MN By D ©o GoT0 05508, OHE & HLED DY) SO FH8Doao 003

0Oy &R HeE. "
¥
W | AN @ |
(3) AVB | @ —BVA
e —— 8

>
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101. ___ isexpected to host the summit meeting of Shanghai Cooperation Organization in 2023
(1) China ( 2y India (3) Kazakhistan  (4) Russia
2023 6° as5isiiosy ol e 6° TS SFRAS B Kikrdren & oot

R (0 (3) EutdS (4) s

102. The Election commission has announced polls for Rajya sabha seats that fell vacant
between June and August 2022. c
&8 %008 erfxp 2022 56 7P wowd . Teies S0 dRge 80T 00R 580000,

(1) 47 (2) 52 57 ) e2
103. measures output in sectors like electricity, mining and manufacturing.
(1) Grossdomestic product - (ffy Index of industrial production
(3) Currentaccountbalance (4) Fiscalsurplus / deficit
D)8, Kikoen Sxg8o, Sikido 8aird 08 Borres’ aam s K O:00.
Sre 38 5 (@) oo 5 - =
(1) nﬂ“ﬂ} b 68 . (B8 &8 o Eee
(3) a‘a‘oé grae Qo  (4) B85S e /s orden
104. As the American automobile company Ford exits India, its manufacturing unitin Gujarat has
been taken overby L
(1) Mahindra = (2) Suzuki (3Y Tata (4) - Hyanias
a8 Er5y e 00 FFeobds) eOES PN Saird o3 §F © K8 & &by Soied cHrdS
%03 ebdEne®s $9y08.
— @
(1) brogs 2) »=t - ((B) & (4) oo

105. Recently, the Internatlonal Labour Organization (ILO) directed that there should be no
barriers to people with different sexual orientations. They should be descnbed aam B
Xf{e‘EGBTIQ Peoples (2) Hijras
(3) GayPeople : (4) Transgenders

@oémécﬁ) 5288 K:ofo (mo)éé.,) dod Ko AR Bohé 5561130355‘1 08 AenHo3 eacﬂoéwa
é&hoiﬁé@%iﬁo&‘ 53°é.:3 T8 ™ 6380308,

Qéﬁi}éﬁmé&b’);@w (2) Sreren
(3). Afgw (4) ®oK £rByA Ssen
106. The Indian army plans to create an integrated battle group combining strike formation on
northern border and
( 1) Hold formation on western border
(3) Hold formation on northern border
508aHS @b g USTEAIEN AN ol @
_ éoéwob.
(1) 58y $OTHE® T PTS
(3) &8s aamtﬁnﬁs WG FTHS
M
A 26

(2) Pushformation on northern border

(4) Strike formation on western border
208508° &88 $OrHE® 8 TS & e

(2) BEEHOHE® HTAFTHS
(D) seposoimnst psdas
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107. The Southwest monsoon sets in first in _—
state.

(1), TamilNadu 42 Kerala (3) Karnataka (4) Maharashtra
58 2edRHTeeD dwodbrre o
(1) SDE __é_csfﬁws i
e - (3) Sopwe (4 &%
108. '(I‘lh)e Sl;}:;:z: (13;31{;1(':3 c;f;;ci)ig suspended ___covering sedition
(3) Section 128 of IPC (2) Section 124(A) of IPC
- (4) Section1320f 1PC
T o oI V00B___ Sepd ariss oo 5% OBF0B. e
(1) E512000)0d 2E8 124(5) 05D L
,__—(3) 2ES 128008 (4) 2E5132008
109. TSRTCfileda ___case against Rapido organization over an advertisement
A1) Defamation (2) Copyright (3) Cheating (4) Conspiracy
8 % 66 & D adiso ToBE" Ko mOyS s ek S IDob.
(1) sw9sg0 (2) =H3s (3) o (4) e
110. Russia hasovertaken which country to become India’s second biggest supplier of 0il?
(1) Qatar (2) Iran /@)/ Saudi Arabia  (4) Ukraine L
B BER) ©fKD0N grES B St $8H0° By Bt Botks Apod’ OB AT
(1) »&°6 (2) =8 Pheddar  (4) oHES
111. Which country become the 4" new member of the New Development Bank 2021 ?
(1) Bangladesh (2) Myanmar (3) Uruguay (4) Egypt
my B0Ry0l5 erg08 & 2021 &° B g0 00 8%056 2
(1) - worpds (2) Havayb (3) o &9
112. The Human Development Index isan indicationof ___
Xf ) Income, Health, Education (2¥ Income, Health, Trade
(3) Health, Education, Nutrition (4) Income, Health, Imports
5 oSy a8 S IrdR00. -
@ a0, 8550, Dts (2) eorabo, 8850, 50

(3) e85, S5, THES (4) sabo, 880, HrHHSHHe

113. Cyclone Asani, which formed in the month of May 2022 affected state

(1) Andhra Pradesh Tamil Nadu (3) Kerala (4) Karnataka
_ Tgost 885k,

20223 Bos® D oD S Berdo
sol (538 (2) ST (3) So¥ (4) Sopw8
e e
A . 27
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114. Allthe countriesof - continent are members of G-77. ‘
(1) Africa (2) Asia (3) FEurope (4) South America
porio 6% o) Beven B-77 & Hubgen.
sds (2) ehosr (3) oot (4) sEwoROs®
115. Thomson Reuters ts
%1) Canada based (2) UKbased
3) USAbased (4) Australia based
TS Trowtaly Ko B398 Bohod.
el (2) o (3) o$.95.5. (4) whoot
116. The Kruger National Parkisin
(1) Greece (2) Russia (3) South Africa (4) Singapore
&8 erdah 550 & BFos® dod?
(1) 68 (2) &g t58es esRe (4) 2oKXHrE
117. Match List I with List-I1 and select the correct answer
List -1 List—1II
(Kingdom) (Rulers) ——
a) Vatsa (i) Udayana P
b) Avanti i1) Prasenajit
(¢) Kosala ii1) Sishupala
(d) Chedi : (iv) Pradyota
e [, erdeor 118° 8500 K0 wonid Kiirgribin Sk,
erdee I erder I1
(cvessiio) (o)
(a) &8 (1)  ates
(b) wSod (i) @528
(¢) &%o (iil) BHIrentd
(@ Do - (iv) @&

The correct answer is / %8 @ons $hrmeddn

(a) ébg (c) (d)
(i) (i) (i) (iv)
(i) (iv) (i) (i)
3) (i) (i) (iv) (i)
4) () (i) (v) (i)

118. tis the expansion of NASA ?

/V()%B National Agency of Space Administyation
National Aeronautics and Space Administration
(3 National Air and Space Agency
(4) Navigational, Aeronautical & Space Agency

P G0 D DS ?

o - | 2R S, o
(;) szi s:):ii f:qu::)co g&g& Rt JASS 3‘)6’55"6353 &HS @&g&)éﬁS
(3) TS DB & Byo 0@, (4) IRKSS, &t BES & R aEd,

(2

28

rd
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119. VIVhlcl;J;r;i:) he;;)]l}{:\vmg statements is not correct about Ashoka and Mauryas?
ma—
(1) ahamatras were a new cadre of officials created by Ashoka to spread
Dhamma all over the empire,

(2) Accordl'ng to Mauryan sources Pradeshika, Rajuka and Yukta were important officers
at the district level.

(3) Pative(?aka and .Pu]asani, were responsible for maintenance of Treasury and accounts.

(4) According to Dipavamsa and Mahavamsa Ashoka killed 99 of his brothers and
succeeded to the throne.

S50 S8 ©FHS QoLOBODB0SS8E: & BoB H55550esd 585200 0B ?

(1) &5 dEree & &y, REPOSEOR HEfBoHtd Tt BEEIFSrEhe ol Mrdd
OB HOH AHMWOTH, |

(2) ToOp W, opsive GEebo Sdiber, Geber DHOCH ‘Cnfer’ B B0
s HeD.

DHILEID S8 HoFeen oasg 55@3&&6&» Keroseei (8%e0) Lr .

(4) OBBoE WO HWFLoY orsve Pedn eefhHd 85 99 Hob FEGHeH H6OD

QOBIE0EH 5By,

120. Who among the following composed the Mandasor Inscription ?
(1) Vatsabhatti (2) Chitradatta (3) Parnadatta (4) Chakrapalita
D0EREE BIHEE B ? =
(@) =88 (2) osss (3) #gws EEE (4) SE>0S
121. Which one of the following statements is not correct about Jainism ?
(1) According to Jaina tradition, at the time of Mahabharatha war, Jaina order led by

Neminatha, who is recognized as the twenty second Tirthankara.
(2) Jaina monks were found on the banks of Sindhu river at the time of Alexander’s

invasion of India.
(3) The famous Gomateshwara statue was erected at Sravanabelgola by Chamundaraya,

the king of Gangas in 11" century.
(4) Mahaveerapreachedin the mixed dialect called Ardha—Magadi and his teachings were
classified into tweleve books called ‘Srutangas'. _
& Bob S 56 BHEdB $0eoBoNSoSBD B0 SREDH0E HHS5EN?
a8 Sogmdbo  BwSiy SSCUSGE: 68 B Hedd Imwed

PSS SEn SIS G 225 B50SHAE™ 1080 FoB.
(2) zr88BE0R @853055 Bokoird 88 B darghen Roghis BOTIEroSENS”  a¥en

BB,
(3) @ng BodS A
TeRNorTeasnd.
(4) sEdss 85 s

HSosenre DB oBTOD.
P ' 29

SBEY Y, 2800 NoBEIH 11  dorgod® rror Bodprand

s & SP00BD. Hovs Ssden Wdorrey HHE 12
Q
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122 Assertion (A): Balban could not raise the numerical strength of the army to th, le

Reason (R):

it reached later at the time of Allauddin Khilji.

to higher civil and military posts,

Choose the correct option from the following:

(1 ) (A) is true, (R)istrueand
(2) (A) istrue, (R) s true but

(R)is the correct explanation of (A)
(R) is not the correct explanation of (A)

(ég;%'ie Play

[

ve] Whigy

Balban insisted upon highbirth asan essential qualiﬁcation for apmintmem

%
5%

(3) (A) s true bu (R)is false
(4) (A)is false but (R) s true

V880 (A). ZPO)S @) s Koamtorn 0B P vy, D50 008 DA sy,

S0 (R):
Z]"E}I}S PO,

080 ne® o0 R IEWGR) VSHo Pormas a8 K:U:Oé's éégiﬁa’m 28 S

3808 a3t 0& $6 wany SEPEPRHEDRD JoHEEod

(2)
(3)

(A), (R)en N&5iuen %06 (R) 038 (A) % 5605 D55
(A), (R)en Osoen, 29 (R) o3 (A)% 56358 D560 505
(A) S50 s08) (R) S50 02

(4) (a) R0 505 so8) (R) 58550
123. Match List I with List-IT and select the correct answer
' List -1

(Texts)
(a) Kumarapalacharita
(b) Vikaramankadevacharitra
(c) Rajafarangini
(d) PruthvirajRaso
&1 808 0D a8y,
05 -1
(fotssoes)
(a) SSrsdosss
(b) -+ DEsrosBsSeE
(c) oeassond
(d) p<) J&gﬂ“é o

(1) @)

List—11
(Authors)
(i)  Chandbarda
(i) Kalhana
(i) Bilhana
(iv) | Hemachandrg

o -II
(BSowien )

(i) oo
(i) St
(i) Dot
(iv) o
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124. Match the following.
List -1
(Dynasties)

a) Nizam Shahis

Imad Shahis

AdilShahis

Qutub Shahis‘{/

Barid Shahis

& Bod TP 23SHDBHkw.

O -1
(orasgSodsmen)

(a) Qeeo dpbren

(b) =5r8E Piren

(c) oBS phren

(d) %&Hd drbren

(e) «B6 rdren

(@ & © @

(1) G 6 @) G

@ @ () @) )

() (v) Gv) (i) (i)

(v) (i) (v) (i)

o o T o m
g

- List—

I

(Kiﬂgdoma)

(i)
(ii)
(iii)
(iv)
(v)

R

()
(i)
(iii)
(iv)
(v)
(e)
(v)
(v)
(i)
(i)

Bidar
Golkonda
Berar
Ahmednagar
Bijapur

-1I -
(U"&SSS:DQD ) =

His6
ﬁseS“g,oL‘.
Boed
O5PHB SKE
DeriyB
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125. Which one the following statements is not correct about Bahamani Kingdom ?

(1) Bahamani sultanatewas foundedby Allauddin Hasan Bahaman Shah in the year 1327 AD,

(2) Among all the Bahamani rulers Shihab-uddin-Mahmud’s was the longest rule.

(4) Kalamullah Shah was the last ruler of Bahamani Kingdom.

5 8o B5ESEn0Et 08 B EIE B $0gfoBODIOEHB $6 ©anHd 5.

- i) Soerats oerebS 43S oS & E 13276 Fdosalod.
(2)  atesb terseotsds® RS 688 LB DS oo FDoB.

(3) sodesnd & MRS soer06® SosmsmeE KPS BT Ho@ AAHDOBRL.

(4) 285 e B8 et e Ee”
__'______;___——4—'—‘_;;._—_

——
A

L_ A

Soer 3.

(3) Mahmud Gawanwas appointed as Prime Minister of Bahamani Kingdom at the time of

Muhammad Shah IIL
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126. Name the Afghan who played an important role in forming Rajput confederacy against Babur
at the Battle of Khanwa in 1527.

(1) AlamKhan of Kalpi

(2) HasanKhanMewati

(3) Nizam Khan of Bayana

(4) Tatar Khan Sarangkhan of Gwalior

1527 sy oS0fod® erab $ $;83850r Tads Kiragh Sovyn Bahtod S T

LB H2PoBD ?
(1) %58 3068 soosrd
e
B3 8 o8 FSS S ‘

(3) =PcHiS % BobS Jero g°8
(4) m™OHE % BohS acsSb grs FBoh 78

127. Which one the following statements is not correct about Shivaji Coronation Ceremony ?

(1) Itwasconducted by ‘Vishweshwar' a Pundit from Benaras.

(2) Balam Bhatta was a family priest of Shivaji

(3) On10* June 1674, Shivaji re-married his four surviving wives according to Kshatriya
rites.

(4) Shivaji was obliged to undergo a second coronation ceremony on the suggestion of a
well-known tantric priest, Nishchal Puri Goswami.

& Bob HSSS5EneS® DB H6 wancd S0 ?

(1) 3ord HerdRBB0H AETON0H 2RSS © BodS ‘Dg¥5’ Dol

(2) ‘oS oty Bard Hivon .

£80H BB BSBo wm§ 10, 1674 § tard oD &F) &5 Seorvd i 8OA

DD ST.

(4) @088 BThd oo VHS Fo FI JoFp Brd 86A Depdigsed
SPOHE e ©ohEB0T.

128. Arrange the following Bhakti leaders according to their year of Birth.
+(a) SantTukaram (b) Chaitanya Mahaprabhu

(¢) GuruNanak (d) Kabir

5 80B 458 58 HIEHO 2y KoBB)B0 sgrBore S5 BHH0S® HE 0.

(a) o0& deoro (b) BES; 08 Hed

(c) o exE (d) %96

(1) (@) () () (@
2 () @ () ()
(3) () (a) (@) (b)
@ () ®) ()
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129. Which one of the following statements is not correct about Raja Ram Mohan Roy ?

( 1) He condemned the ido] Wworship and Brahmanical rituals.

(2)

He propagated i '
propagated Monothesim gyq stated that religion and divine worship mere personal

matters of an individual anq unjustly controlled by Priests.

Tos i
| (3) Tosupport his arguments, he depended upon Vedic and Puranic Literature.

(4) He wrote a pamphlet ‘Anusthan Prescribing the mode of worship to be followed in the
Samaj.

& 80D ESSRN0E" 30 e ) B oy KotoBoDSosS S $o wonsB . B4

(v E ’-

(1) @86 QBSOS S8k B e 5 PRoS 098 eTed polod.

(2) S8 D0 S50 oo 58 qmg, 5loms deHD S0 G0 Ko B2
O 85 shSostd LRVSENAR OB DRSS B T,

(3) SSbe g Frirdts £sg Smen 50050 Hove FAPE0R STBHED.

iR SEra08® gKS0%D eoms & S eome® 8DAH BRyohd ‘©HPE oF o5 JEsd

40T,

130. Which one of the following statements is not correct about Portuguese presence in India ?

— e

(1) 1In1498 Vasco-da-gama reached Calicut on the Malabar coast where he was received
cordially by the Hindu Raja Zamorin.

(2) Francisco de Almeida, the first governor of the Portuguese in India followed a policy
known as Blue Water Policy.

(3) Portuguese conquered Goa from Mysore rulersin 1510 and made it their capital.

(4) Alfonso de Albuquerque was the second Governor of Portuguese in India who tried to
introduce reforms in the Hindu society by legally abolishing Sati.

PESBE06" Doyt 08 KogoBoNKESES & BB BE° DB K6 wonH &) ?

(1) 1498 Sosgsos® aRfumir Howb 806N 0L & W 8 ot e
P08 B PSorr siiBoBRD. |

(2) erusEdos® A ﬂ%f\.fn K555 oawd PR, & oD wr b ddiy
©5008)od. '

1510 Hod8)506® Biieb e Hob Py o> aridy wowod AI 85 TR

L0,

(4) rusdost Py ok K55 m AADDBETX ‘wB)0Rk & everr)s6), Stggor H&
8t Betsio Trye Sroli S mei0® H0RBENOD ©OKTE ) PO,

33
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gically based on their inception,

iati nolo nt
Sl G oGy Polita] AspopiEiicid e b) Poona Sarvajanik Sabha e
g a)) II\;[1 dj]?-n Aﬁsoﬁigtion Sabha d Bo_mbay Presideng 61?&“;;01&11:1011
c adras Mahajana Sa o |
& 80b trasdah Kool ©d @AEododd B0 80 sErdonT EoeSories i )
B5HS oRFBGHLS (b) &pa FEglE IY
s p (d) @008 BB, ORFDADRS

(c)  Sowido Sossbess e 1 )
BeRgy BHILY B

132. Who among the following is not associated with defence of the ‘Indian National Army

prisonersin the Year 1945 —467
(1) Bhulabhai Desai (2) Jawaharlal Nehru

(3) Mahadev Desai (4) AsafAli
808 06" 551945 — 46 63 BoBAHS IS by B © 53 BN TOS® arriogo g,

(1) erererondeon (2) esebord I SHrasdeon (4) s55ed

—_—

133. Arrangethe following important events chronologically based on the Muslim separatist politics.

(a) Deliverence Day (b) Lucknow Pact - :
(c) Direct Action day (d) Establishment of ‘All India Muslim League’

R0 88 58 oredabisnes® & Bod Snasooni Hoesne BErrbesin e @),

(a) BOSBSHE (b) 8% aB0usm :

(c) OS5 5885 (d) & zodair Sndo HR dovytn
0 @ @ 6 @ @ ® @ ()
(33 (4 (b) §0) (a) @ (d; (c) (bg (a)

134. Which one of the following opinions on the nature of 1857 Mutiny is not correct ?
(1) John Seeley: “The Revoltof 1857 as a wholly unpatriotic and selfish sepoy mutiny with

no native Ieadership and no popular support”. :
(2) James Outram & W. Tayler: “The outbreak of 1857 mutiny as a result of Hindu -

Mushim conspiracy”.

(3) R.C.Majumdar: “1857 Sepoy mutiny was not a war of Independence. There is nothing
in the conduct or behaviour of the sepoys which would justify us in the belief or

acsUIENoN LTRSS \Were inspired by love for their country or fought against the

British with the definite idea of freeing their motherland”.

(4) William Darlymple: “It isa conflict between civilization and Barbarism”.

1857 darane &8 verén Ka_gawasas;gjé % 808 0D cHoos® 58 K6 A e

(1) aao_S 58 :“1857 Bitberey 3{5§ &, P08 dirave 8iberty © B8 Bddne
TPODESED S (Heristearmd) S N

(2) 85y Bero 0div sy Bo5: 1857 atortemtn trotin oo Ging, o B8R

(3) 8. 5. Herowr: “1857 Rrane gemen oy Dotro s, mothes PO Rarowe
ESES R B8 85 340 58 Eiored, st © 088 D8 08t vttty o0 55

R S5B0E”.
D0abho crRoHS: “HOLS 0ty eaeriss: ot S SosnSH 1857 8eprbares”.
______‘_—_‘_‘__ i R
A 34 '
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135. Tropical monsoon forests are normally

Evergre.en forests (2) Deciduous forests
(3) Temperaﬁe forests (4) Mangrove forests
o0 S 0t St & 0. =3
(1) I8 SeBE~SeagEoen a3 O°8) OLDED
(3) é@é@ﬁ@!ﬁé}m (4) HE eiHen
PN i

136. The predominant vegetation of hot deserts is

(1) Xerophytes (2) Mosophytes ~ (3) Hygrophytes (4) Hydrophytes
o) Do HEmpsoe GO B0 SO, |
28¢5 (2) IS (3) TR (4) TER
.. _
137. Thehot & dry wind which originates in Sahara is
(1) Sirocco (2) Leveche (3) Chili (4) Loo
$hoe DSOS i A B8 rreve Sk &5yD0H
BE°S) (2) 80%» (3) b (4) o=

e

138. The Mediterranean lands are also known as

(1) Orchardlands (2) Drygrass lands

(3) Evergreenlands (4) Nomadiclands

Sotsstsor ghesineodd © Erre Hendatdd.
(1)) s8)6 wrswe (2) &8 Sy ersve

(3) %88 &08 grdoen _ (4) BdBe grsven

139. The planet that takes 88 daysto make one revolution of the sunis

(1) Jupiter (2) Mars (3) Mercury (4) Saturn
2 B Hrrgd ihex BON TSTRS 88 Bare Hoabn D Hosod.

(1) @~dws (2) %8 ity (4) #0

140. Which one of the following is the source region for the formation of air masses?
(1) TheHimalayas (2) TheEquatorial forest
(3) TheDeccan plateau (4) The Siberian plain
% 80d B arain TrienrT D8R8 o eTP0 @rosm.
(1) erdrodire ' (2) eprengsBn otd @osim.

(3) &% SserD 200058 Foreisi

141. Sub-tropical high pressure belts are also referred as

(2) Wind convergence

(1) Doldrums
(3) Horse latitudes (4) Frontal rains
5 s B 0B DS Dweren DT
(1) a8y recen (2) arasnhe edstemsn
4
By OFPOTE VD (4) oo S8
.“-‘"i——___‘__ __-_.-_—-_-___-_.___.—'-5;'-_

A
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142. Which is the largest Physiographic division of India ? .
(1) Greater Himalayas (2) Greater Northern plains
(3) Greater Indian plateau (4) The Coastal plains
EPSEBEE0S® w LK D80 DUNE) P8 Hotieo b ?
1) 5 Sedireahines (2) eyes ags Pordene
DS 8 e ; (4) &8 poresso vy
143. InIndia Multi Mode Transport System (MMTS) was started on the
(1) 9% July 2003 (2) 9™ August2003
(3) 9% September 2003 (4) 9 October 2003
ePESREL0S® 509 I Bawew SE8HE B @rdodloTd e
(1) 9282003 e 2003 o
(3) 93%0w52003 (4) 9v&5 2003 N
144. Karewa Soil is known for the cultivation of
(1) Citrus Fruits (2) Floriculture
(3) Coarsegrains (4) Saffron
E0a Soy8¥en FrH% ABBPAOLDE.
(1) O, BowolDs S0k (2) &rodKnd
(3) oo Ao | ((3)) wom s
145. Namchik Coal Mine issituated on
(1) Meghalaya (2) Assam
(3) Arunachal Pradesh (4) Tripura
5808 &°1% 1$%0e0 S 300D
(1) Dirodd (2) o0
oSS HB8 (4) @8 -
146. The Konkan Railway transportation was started on
(1) 15% August 1996 (2) 15 August 1997
(3) 15" August 1998 (4) 15™ August 1999
£08S5 BB Se® 86 i @ 8odosiod
1) 155 enrap 1996 (2) 158 e 1997
ﬁ%) 158 eaifsyp 1998 (4) 155esisp 1999 0
147. The boundary between India and Pakistan is an example of
(1) Superimposed boundary (2) Subsequent boundary
(3) Antecedentboundary (4) Relict boundary
apBBGE0 KBS ﬁ'@@;ﬁ © il e éaxmsgg,; Arrsese
EHBB5S SOT (2) 8550 805
(3) E@RReTE (4) sesgse i
A o 36
P
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148. Whichone of the following is theﬁost urbani;-; Jtate in India ?

(1) Punjab (2) Gujarat (3) Karnataka (4) E’l@—i—lyﬂlu

& B0d TBE° ©FRESIT Heoedssmtny Bons o056 7 L

(1) do=d (2) Kours (3) ¥opeos BQHTED
,’_‘__,_— . w
149. Centre for Arid Zone Research Institute is located at

(1) Bangalore (2) Ranchi (3) dJodhpur (4) Jaipur

By, Dotio S0 HOFBH B0 5 FoFoRaKH.

(1) Borerd (2) o0 . 6 4) Brb
! ol on (4) 2
150. Which one of the following state has the lowest Human Development Index?

(1) Bihar (2) Haryana

(3) Himachal Pradesh (4) Punjab

& B0t Al Tined” o) imds 00 Gr8 (HDI) SR Togi. %

0:56 (2) How =
(3) eSS Eds (4) Dod

151. Which part of the Constitution deals with Amendments ?
g0 & erKoS® $58eme HBODS $drTEo dotnod ?

AT)-XXT (2) XXI XX (4) X

152. Equal Justice and free legal aid are partsof

(1) Directive Principles of State Policy (2) Fundamental Rights

3] Fundamental Duties (4) Citizenship
K7 egaho KBy SOE T S0 BN & Bob FB6° 38 508050N8D.
B85 SrEren | (2) @BE T

(3) @S (4) BrsEso

153. Which one of the following is not correctly matched ?
Pass State/UT

(1) Lanakla Ladakh

(2) Bomdila Sikkim

(3) Manapass Uttarakhand

(4) Shipkila Himachal Pradesh

& Bob rBE 56 wond 2SS 0 7

€& cn:é:m /Bo.ar.
(1) o%be o5
&7 e &80

(3) %8 agoepob

(4) 258 eSS HO8
A — 37

A
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154. “The cit d women equally have the right to a1 adequate means of livelihoyg, -
. “The citizens, men and wWo '

was mentioned in _
/m Directive Principles of State Policy
(3) Federal Policy
Betoe, oS Bt Db §oo B
AT B D& arrsrdoniod ?

(2) Centre-State Relations
(4) Fundamental Duties
Sore, SAS0s BETFE ol TS gpp

@aagm@vm (2) éo@mgéomomw
(3) Hrayderdo (4) DeeanE Deben .
155. Parliament means
(1) TheLokSabha (2) TheRajyaSabha i
~ (3) ThePresident {'4')/ All the above -
FEokn ©JT :
(1) &8ss (2) oresies (3) g8 258,

156. “A body consisting of persons registered in the electoral rolls relating to a village comprised
within the area of panchayat at the village level” is called
(1) District (2) GramSabha
(3) PanchayatArea ~ (4) Noneoftheabove
P Homrabd Pons’, ef S (PHoS’ LenH KFrh THHY TBosEr D HY
B0 7 DHrotrdd ?

(1) @er o ¢ (3) 60@4:53&@**030 (4) 2305

157. Inthe format of Party competition, which model is currently working in India ?

(1) One Party dominance (2) Bipolar competition

(4) Multiparty competition
Frbe 5E;RHE0 oo BLHT eiabsos, Kihdo w883 Fos® D Srso Sbrod 2
(1) %8 a8 (2) Both arbe 5

(3) Bo o @odsTe) D8 é)béo e oY ézéez o)

158. “The state shall provide free and compulsory education to all children of the age of six 10
fourteen years in such a manner as the gtate may, by law, determine”
(1) RighttoEquality

(3) Rightto Freedom of Religion
“6 ol 14 Josdore ere POEes,

(3) Two-plus competition

is part of
(2) Rightagainst Exploitation
(4) RighttoFreedom

QBB Sko o & S0l DB
@oBoTD” ©F SiSi 6808 U6 B8 kastso ; Qo TegTe, @8 D)0
(1) Shrssrsy -

2) &
(3) &8 b8, éz%) Beeniy 26008 ey
g oK)

__‘__‘_H-“'N-—_
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159, “Deen Dj':l)fal Upadhyaya Grameen Kaushalaya Yojana’
1) Ministry of Rural Development |
(2) Mlin'istry of Social Justice anq Empowerment
(3) Ministry of Communication !
(4) Mu;st;f of Micro, Small and Medu Enterprises
55 Bobey AT (e T e oy &0 ©H%K00 ?
@ e 0I5 Hodss .'
(2) Priresamgo 0atn dyboons og o s
(3) Sraed o ey -
(4) Sy 0% BB 2 856 5600 0B g

e

s part of

160. During which five-year plan was phase of heavy industrialization initiated ?

,H')/ Second Five-Year Plan (2) FirstFive-YearPlan
(3) ThirdFive-Year Plan (4) * Sixth Five-Year Plan
2 08K e RSE® ord SO Dofomt ? g
Bt SoiSit e (2) @08 055Y B
(3) et HoSE e ‘ (4) eBSB0SSE Gl
161. Which sector does contribute the most to Indian Economy ?
A1) Service sector : (2) Manufacturing sector
(3) Agriculturalsector - (4) SmallScale Industrial sector
68 08 $556° D Borfo w8 Ko 806 7
(1)) ®se oo (2) airborio
(3) &5t orio N (4) 0%y 86800 Sotfo
162. Which type of unemployment has the marginal productivity of the workers is zero ?
(1) Seasonal unemployment, (2) Involuntaryunemployment.
(3) Disguised unemployment. (4) Structural unemployment.
O EE QGBS D% &08 AEySEE o) 80 ?
(1) codsspsoeetps (2) eiggos s -
By QNS | (4) Ao o

163. Identify the Non-Constitutional Body.
M National Human Rights Commission (2) Flection Commission of India

(3) National Commission forSCs (4) National Commission for ST
6 8ob p86° Tramyon8 Bogab ?
(1) b smsss srtopo oo (2) o8 2080 Soiio
(3) epbosh ndrs HeroBoso- (4) =bab ndrd 8o Somo
X ' 39
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164. Whatis meant by Monetary Policy ?
(1) Theprocess by which the Parliament controls the Mo
(-67), " The process by which Central Bank of a country contro
(3) The process by which IMF controls the Money supply )
(4) The process by which World Bank controls the money supply

ney supply
1s the supply of Money

5355 Do SR ?
(1)  rgvokn (5 5807 dao@oisio &
e B¥o Gng) Bos ergo (55 $8Hoed Nabo@obEo L

(3) ©oSTr8aH (K55 DB K55 HBHTeD dabo@oeso
TBAD (15335 N6 (153
(4) oS arp (55 SEHov% ddboGoiitso

—

165. Ifthe Balance of Paymentsof a country is adverse, then which institution will help that country?

(1) World Bank (2) WTO
3] IMF (4) AsianDevelopment Bank
&8 B0 85 8o (Balance of payments) D080 HBE® ax)Hid O S0 hE0t0b?
(1) oS arod (2) %0 eedess B0
wosTHad (55508 (4) odair 00 erod

166. Which of the following are called the Twins of Bretton Woods ?
) IMF &IBRD (2) IMF&WTO (3) IBRD&WHO (4) ADB&WHO
& Bod ES° I8 BES HE SSoesre beorH?

@ 80.20.9 & ©.9. 5.8 (2) ©.20.5 & Keng. 8.4,

(3) ©.9.e5.8 & Heng. 3°5. 4 (4) 2.8.9& K. 275.8
167. Who was the founder of ‘Hyderabad Protection Samithi’ ?

(1) Boorgula Narsing Rao (2) Hayagreevachari

(3) Ramachary h (4) Mandumula Narsinga Rao

et BrBES S8 PHiart) ?

1) arde S60Kc°H (2) SroHhSTs

ooEPs (4) ossure $By0KTD
168. The Gentle men’s agreement at Delhi wassignedon:

( 1 ) 16t February, 1956 (2) 18t February, 1956

(3) 19 February, 1956 (4) 20* February, 1956

8D & DEHHDHO etioalds’ P d B Sosso Sabnldse

(1) 16Mps6, 1956 (2) 18%%@%8, 1956

(3) 19%%@i6,1956 20" H@i50, 1956

169. When was the first Industrial Policy of India launched ?
a8 BEod® B OB LS Aerso Ao Frodosndod ?

(1) 1956 (@) 1948 (3) 1951 (4) 1965



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

AgaalzTy

70. Wh;';; organized c?emocratic Telangana conference in December, 1997 in the banner of ‘All
India People Resistance Forum?

(1) Marrichenna Reddy 2) K.JayaShankar
(3) Kaloji Narayan Rao ( ) e
(4) Veda Kumar

Bo0res 5% )0 ) DS D Broaes) ?

(1) 03758 8. cto¥os5
________(.31 6 E SrorahETEd) (4) Actiseb
171. Identify the commission appointed by Telugu Desham government in June, 2001
(1) Bhargava Commission (2) JIM. Girglani Commission
(3) Non-Mulki Protection Commission (4) Telangana Mulki Commission
8, 2001 & Sod@yso &° BenrvBgo B0 AeHDONS EDHAS & HRoSod
(1) &gs5aS J M. ASEH EE05S )
(3) TR Bﬂwb; BER 8HKS (4) 8oorre Bd) BHRS e
172. What is the historical importance of the day 27" April, 2001 in the Final phase of Telangana
Movement ?
(1) Formation of Telangana Elites Forum  (2) Foundation Telangana Jana Sabha
(3) ‘Bongiri’ Declaration (4) Foundationof Telangana Rastra Samithi
B0 A5 ©oBHBE a0 & 27906, 2001 T0EE @Trig o8 ?
(1) Boorre a9 )PBo Hopks (2) BeoreeseSes PSS
(3) €b%HN0 BESHS Beorre T°G 5808 S

173. ‘Nizam Subjects League’ was founded by few educated elites of Hyderabad State in the year. |
o $85, OF % Freioerd e 559 ot DGP B0 Hrrhen D Sos8yS0s® F0od ?

(1) 1929 (2) 1930 (3) 1932 1934

174. Who was the ‘Home Minister of India’ on the historic occasion of signing of ‘Gentlemen’s

Agreement’ by Andhra & Telangana leadersinl1956 ?
(1) SardarPatel (2) Govind Vallabh Pant

» | 4) Moulana Abdul Kalam Azad
3) Morarji Desai L -l s
(19)56 éog;gléa gsa & 05 Lododor wonbsR B0 OGN Boorrn TEHHen Hodsren DD

TOEE Sotstysone et e 8BE Foko® D50 ?
(1) Sopb28S
(3) Eﬁwo"é Baeow

D06 Sed Ho8
(4) SPerar wmd Sero werd

175. How many seats were ﬁon by ‘Telangana Prajasamithi’ in the 1971 General Elections in

Andhra Pradesh ?
1971 % %058)508° wosEss & 20 Frartin SRBY, Bororee e S D NIO0 ?

o @n O L
A 41
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176. Who was the editor of ‘imroz’ a popular paper in Hyderabad State during the periog of

Osman AliKhan?
(1) Md. Arif Khan (2) Md Igbal
(3) Shoebullah Khan (4) RazaAliKhan
68 wdyrS seoodt griorers o 6 HRY Mo sErs HBS DBLE 5B ?
Md. 85 g»S (2) Md.asys
LFaner g8 (4) Sereodys

e —————

177. Arrangethe following events related to Telangana Movement in Chronological order :

(a) Telangana Vidrohadinam -

(b) Bhuvanagiri Declaration

(¢) Namaste Telangana daily waslaunched

(d) Sagaraharam

Boorres a55%Hsn &° Homorsnd) & Bob Sosmbsosn Ed HE86° o8 08

(a) Boorrs & &30 -
(b) 2HEHAB BEBHS

(¢) B Boorre &3 HBE FEodoHe

(d) AnssES0
(1) a,cdb . (2) b.cda
a,b,c,d (4) d.,b,ac
178. Who described the post of Deputy Chief Minister as ‘sixth finger to a hand’ ?
(1) M. Chenna Reddy (2) Neelam Sanjeeva Reddy
(3) B.Ramakrishna Reddy (4) K.Brahmananda Reddy
A SoagEo® BB ‘D88 e Bermr 25 ©9S50000 ?
(1) M.3x%38 deo Sods 88
(3) B.ovio8)os (4) K efsot538
179. Identify the leader from Andhra region who was not a member, who signed on the

wearts0 Sofdakg

‘Gentlemen’s Agreement’ in 1956

(1) Damodaram Sanjeevaiah (2) N.Sanjeeva Reddy
(3) GauthuLachanna (4) B.Gopal Reddy

1956 & Sosdfo & VHHH aonlsp GoSe IS soE os  Tabbed SEE
5°8) DB 1HBo0A4.

(2) N.%odsas

(3) W&o (4) B.A*>S38
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tice ‘Srikrishna C
180. Jus ommlttee submitted
(1) 30t Nov, 2011 ed its report to UPA government on

’ 2) 3w Feb,2010
(3) %3;1 ‘Ig)ec;()ll E4; 231 Dec, 2009
230 8 5)R 88 UPA Hedard2 g3 B D 8% 1515001008 ?
(1) SHowb 30,2011 : ‘

(3) &%0w6 31,2011 (2) @63,2010
= (4) &owb 23,2009

—_—

181. Arrange t'he following events connected with the Second phase of Telangana Movement in
chronological order :

(a) Appoinment of Justice Sri Krishna Committee
(b) RailBandh
(¢) Million March

(d) Submission of resignation to Chief Minister post by N. Kiran Kumar Reddy

BoB® &8 Boorre adsino &° & Boks asmas Sommbbud E H5HS° oS0
(a) =RVE B80S dosrsgo

(b) BS 208
(c) DOKHS &6, S
(d) HwmgEod HED8 N. 855 ©i6 38 ordoriie $56)0508
a,b,cd (2) bd,ca
(3) d,b,c,a (4) b,cad

182. Thestudents of Telangana conducted ‘Telangana Vidyarthi Garjana®in Osmania University, on

(1) 14 June, 2013 (2) 3vJanuary,2010

(3) 37January,2012 (4) 10* April, 2011

Boorre duegien ardoe DE; D geaH0s’, ‘Beorren D HES® O B'er AEEFoTE ?
(1) 142-§,2013 .3&5555 2010

(3) 3e%56,2012 (4) 10 23,2011

183. Identify the person who brought the illegal appointment of non-locals in Kothagudem

thermal power station for the first-time into public?

(1) A.Ramadas (2) A.Ravindranath
(3) Sree Ramadas (4) I.KiranNath
S0 $6S5 56 RAS TS ~5%S ) Qw8 ©ED NS c'i)na.ciiw&)&anéﬁwdﬁea B HYS &°8
B0 058
(1) Aoodod (2) A 8bog=6
§ oS (4) LasSw8
L]
S e e
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184, What is the impact of “Climate Change” on troposphere ?

(1) Increased CO, levels increases C; plants productivity

(2) Increased CO, levelsincreases C, plants productivity

(3) Precipitation increases throughout the earth

(4) Temperature decreases throughout the earth -
€096 Sois “arassses S0°8)” A8, BHerSo HAE ? %gg
(1) 28as CO, Jpow S C; 3o Bidod i
200 CO, row S0 Cy 0¥ © 208 DBE

(3) 2 Ao Snts esedo DS

(4) #2030 fuis e 260t

185. Which of the following radio active elements is used to make nuclear fission reaction ?
(1) Thorium _{27 Uranium (3) Barium (4) Actinium
808 D B8P 8,8 Sresd) dd@rACS BoEs DB iS85S 2D TE?
(1) &oaswo a8RHo (3) docso (4) oS
186. Satellite communication uses the following electro magnetic waves
(1) Visible Light (2) X-Rays (3) Micro Waves ,(A‘)/ Radio Waves
BoRE aHsTro & Bod S DD A0 SBorreHd EHRPACIHD ?
(1) &y8s88emen : (2) X-—88eren
DE® Sorren (4) Ba&r sorren
187. What is the code name used for first Indian nuclear test ?
(1) Chargi (2) Pokhran £3) SmilingBuddha (4) Pinaka
808dSrS At $rBavE 558 288895 0 EE Hi.
(1) 8 (2) D5 2300f znis (4) oo
188. Speed of internet is measured in
' B0&T)E5 BwE) &I HAE® S rH
(1) GHZ (2) GB (3) Dpi ) GBPs
189. The common components of photo chemical smog are
(1) OzoneandSO, (2) NO,and S0,
(3) Formaldehyde and PAN (4) Ozone, Formaldehyde and PAN
5°08 S Af 6° FTrBeaom dod ek
(1) &&°SH6as» SO, (2) NO,%8a%» SO,
(3) #0D3rE 96 PAN L&, 0038 S0k PAN
A ‘ 44
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190. The first patent was ?ssged on a human gene sequence is located on which chromosome and
what kind of health risk is caused due to its mutation ?

(1) 4 and Huntingtin dH hili
(3) 7 and Cystic fibriosis i ﬁ? 2Ir:d C::::(t:]: .
2.8 Soi53 esogB08 IO DB &b Bcbhedis ekogd O BB 55 0B ? Wb GB)DBBD

3068 & Do 68Ks $iids Eevrhsiosd ?
(1) 4 50akw ?’moéBQS (2) 23 $B050 Sr3edH DA
7 2005 HRE HoDR-HT (4) 17 £0d0 K6

_,.'-‘_"'_-_-'_.__n - -
191, Whatis the reason for increasing sea level in some coastal areas ?
(1) Decrease of CO, in Troposphere

(2) Increase of O; layer in stratosphere
(3) CH, trapped beneath frozen soil of Alaska
(4) Aforrestation EiE
59 88 @rosrod® $nEs A8 fHipen BEKROS so8w0 DD ? =
(1) E5*DBya9H6 &° CO, &rhise
(2) P9t 0NE &' 05 & DBXDEL

3)  wods® pdENods Jo de Bois H8)% CH,

oidHe Dodso
192. Which of the following plant has high levels of Protein and rich in thiamin in its seeds ?
(1) Brassicarapa 2) Arachis hypogaea
(3) Linum usitatissimum 4) Pennisetum glaucum
& 8ob D A%, Rowes® BB o Ees SO FbS SHHM® sotran ?
(1) erdsooedr (2) wodS PR
855 S DErSRHD (4) LS TES
193, The main reason of ozone layer depletion is due to the release of
(1) COfrom vehicles 2) SO, from fuels
Chloro Fluoro Carbon compounds 4) Methane gasin atmosphere
5,555 i Ko Bob BS°R O HrrTren I SBeBnSE Dibitse SUHEKD SRy SeBE0 ?
(1)  adeare o0& CO s Hod (2) =moFTre 0ol SO, DO Ho
§565 Q6° 5y SErpes (4) eS5Eos® HIS oD Sod

194, What is the functionofa modem ?

(1) Encryptionand decryption ' .
(2) Voicetodata conversion and data to voice conversion
Convert from analog signals to digital and from digital to analog singlas

(4) Check for virus
ArES> s Pabcbiin S ?

(1) Encryption &0c» decryption : _
(2) & Ho0l oot SBon TR ok 5509 ST REES Sr8yto
o oo Gon ks HodS0 LEPISED Srto 5005 8868 $088o H00 exeh

%080 LETATES Srik
(4) 35 sh0 s Babiio

N SRR s -t
A 45
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195. A Kind of injury or damage that results in the damage of premature death of all the near by
cellsin a tissue or an organ through autolysis is known as

(1) Neurosis (2) Necrosis (3) Apoptosis  (4) Cellularselnescene
8 BEDI mabin BB © S0 SO ot Bisry(tissue) Sov wopiini) 6 800 A8 Hyo%0
DBKes B,

(1) S8 (2) Syt ePHS  (4) Dol S

196. Arrange the following events of “biogeny theory” in a sequence.
A.  Formation of coacervates
B.  Aerobicorganisms came to existence
C.  Heterotropic organisms began to form

D.  Mycoplasmas are first formed cells S :

“adedd ?Jm;oéo”ésa 3800 SobodH SHIEDS® oy el

A 853 sairsive

B.  wrairiird dden ad86508 Somyom

C. 350 £:Hen Interde

D. D5 3rdeen Jotaaorsére SairEoni Swpen

The correct answer is / 56 @00 H&EPEED

() apcs (2) AC,D,B (3) BACD (4 ABCD

197. Infiber optic communication the source of Light used is

(1) Light Emitting Diode (LED) (2) Compact Fluorescent Lamp (CFL)

(3) Diode A4y~ Semi conductor laser

5y8° B0 $oKE &F O 5708 i8NS AHAPAIEG: ?

(1) =08 s E@E (LED) (2)  =oFE PP 30t erof (CFL)

(3) uawE O % B
198. The size of quantum nano dots is around

S50 T @e5,) By SERSDS HOBmesn Devsd

(1) 300nm (2) 200nm (3) 100nm @/wm
199. Data scientists require the following skills.

(1) Data visualizationonly (2) Machinelearning only

(3) Statisticsonly (4) Alltheabove

Trer Depiiin HOBA SEENS® SenisSe, sodeasso.

(1) ootrHT IBo8® oS ob SrEd (2) CSPoBY S SrED

(3) Koo TvSim SrEd @) =5

200. Increasing blood clotting time is due tg the deficiency of which of the following vitamin?
D DDS E°Hikw S0 80 KK 88 S DEHH06?
Vitamin K (2) Vitamin B, (3) VitaminA (4) Vitamin C
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